

## HIGHLANDS COUNTY BOARD OF COUNTY COMMISSIONERS (HCBCC) PURCHASING DIVISION

DATE: March 14, 2019

BID NO. ITB 19-026 ADDENDUM No. 1

Project.: Advanced Life Support Pharmaceuticals and Supplies

This addendum is being issued to address questions received and provide clarification.

Advance Life Support Pharmaceuticals and Supplies
 Please consider this a public records request to view the existing contract for the above referenced items.

**Answer:** See the attached Award document for the prior year.



## AWARD TABULATION OF SEALED BIDS

ITB 18-016
ADVANCED LIFE SUPPORT DRUGS AND SUPPLIES
Bid opening: 2/13/18

RANK			2	8				Ţ	2	3				1	2	3				1	2	3		
PRICE PER CASE		\$36.50	\$57.30	\$19.10			i	\$276.20	\$30.89	\$438.00				\$4.04	\$5.70	\$9.90				\$1.68	\$1.85	\$69.70		
CASE		10	10	1				10	1	10				25	08	30				1	1	10		
PRICE PER UNIT		\$3.6500	\$5.7300	\$19.1000	No bid	No bid		\$27.6200	\$30.8900	\$43.8000	No bid	No bid		\$0.1616	\$0.1900	\$0.3300	No bid	No bid		\$1.6800	\$1.8500	\$6.9700	No bid	No bid
BASE FOR AWARD		Each	Each	Each				Each	Each	Each				Each	Each	Each				Each	Each	Each		
Vendor #		0542-02	1238882	24255				0301-68	21347	1181965				88283	379501	1161820				34510	0616-03	1047558		
MFG ITEM #		4391611	4391611	2790632				0301-68	2578227	633230651				88283	9501-01	487950101				3643731	63323-0616-03	67457015303		
BRAND		Cardinal Health	Akorn	Segent				Sagent	Sagent	Fresenius Kabi				Nephron Pharm	Nephron Pharm	Nephon Parmoce				West-Ward	Fresenius	Mylan Institutional		
DESCRIPTION	Adenocard; 6 mg / 2 ml - Vial	Bound Tree Medical	Henry Schein, Inc.	Moore Medical, LLC.	Midwest Medical Supply	Nashville Med. & EMS	Adenocard; 12 mg / 4 ml - Vial	Bound Tree Medical	Moore Medical, LLC.	Henry Schein, Inc.	Midwest Medical Supply	Nashville Med. & EMS	Albuterol; 2.5 mg / 3 ml - Unit dose	Moore Medical, LLC.	Bound Tree Medical	Henry Schein, Inc.	Midwest Medical Supply	Nashville Med. & EMS	Amiodarone; 150 mg / 3 ml - Vial	Moore Medical, LLC.	Bound Tree Medical	Henry Schein, Inc.	Midwest Medical Supply	Nashville Med. & EMS
	1						2						я						4					

						AWARD			
	DESCRIPTION	BRAND	MFG ITEM #	Vendor #	UNIT / BASE FOR AWARD	PRICE PER UNIT	CASE	PRICE PER CASE	RANK
ιń	Atropine: 1 mg / 10 ml - Luer			-					
	Moore Medical, LLC.	International Med Sys		15811	Each	\$9.7100	-	\$9.71	-
	Bound Tree Medical	IMS Limited	7632933391	371006	Each	\$11.4500	10	\$114.50	2
	Henry Schein, Inc.	GIV	409491134	2484141	Each	\$18.3800	10	\$183.80	m
	Midwest Medical Supply					No bid			
	Nashville Med. & EMS					No bid			
9	Benadryl; 50 mg - Vial								
	Moore Medical, LLC.	West-Ward	0641-0376-24	81644	Each	\$0.9484	25	\$23.71	
	Bound Tree Medical	West-Ward	0641-037625	0376-25	Each	\$1.0200	25	\$25.50	2
	Henry Schein, Inc.	West-Ward	6141-037625	3759452	Each	\$1.1600	25	\$29.00	3
	Midwest Medical Supply					No bid			
	Nashville Med. & EMS					No bid			
7	Brethine; 1 mg - Vial								
	Moore Medical, LLC.	West-Ward		20203	Each	\$4.7100	10	\$47.10	1
	Bound Tree Medical	West-Ward	143974610	9746-10EA	Each	\$4.7400	10	\$47.40	2
	Henry Schein, Inc.	Fresenius	63323066501	1181441	Each	\$5.7000	25	\$142.50	3
	Midwest Medical Supply					No bid			
	Nashville Med. & EMS					No bid			
00	Dextrose; 50 % 25 gm - Luer					,			
	Bound Tree Medical	Pfizer	409751716	377515	Each	\$9.5400	10	\$95.40	1
	Moore Medical, LLC.	International Med Systen	3301-1	15812	Each	\$11.8000	10	\$118.00	2
	Henry Schein, Inc.	Pfizer Injectables	409177510	1140577	Each	\$15.9400	10	\$159.40	3
	Midwest Medical Supply					No bid			
	Nashville Med. & EMS					No bid			
6	Diazepam; 10 mg / 2 ml - Luer locking	ing							
	Bound Tree Medical	Pfizer	409321312	3213-12	Each	\$46.3900	10	\$463.90	1
	Henry Schein, Inc.	Pfizer Injectable	409127332	1278192	Each	\$52.1000	10	\$521.00	2
	Midwest Medical Supply					No bid			
	Moore Medical, LLC.					No bid			
	Nashville Med. & EMS					No bid			
10	Diltiazem; 25 mg (5mg /ml) - Vial								

	DESCRIPTION	BRAND	MFG ITEM #	Vendor #	UNIT / BASE FOR AWARD	PRICE PER UNIT	CASE	PRICE PER CASE	RANK
	Bound Tree Medical	Pfizer		6013-10	Each	\$2.1400	10	\$21.40	1
	Moore Medical, LLC.	West-Ward		17945	Each	\$6.8240	10	\$68.24	2
	Henry Schein, Inc.	West-Ward	641601510	1181983	Each	\$11.0000	10	\$110.00	3
	Midwest Medical Supply					No bid			
	Nashville Med. & EMS					No bid			
11	Dopamine; 200 mg / 5 ml - Vial								
	Moore Medical, LLC.	Hospira	5820-01	92857	Each	\$2.7200	25	\$68.00	1
	Henry Schein, Inc.	GIV	409582001	2480666	Each	\$5.9000	50	\$295.00	2
	Bound Tree Medical					No bid			
	Midwest Medical Supply					No bid			
	Nashville Med. & EMS					No bid			
12	Epinephrine 1:1,000; 30 mg / 30 ml - Vial	ml - Vial							
	Henry Schein, Inc.	BPI Labs	542880103	1289991	Each	\$20.5000	10	\$205.00	
	Moore Medical, LLC.	PAR Phamiceuticals	2409985	26914	Each	\$142.2400	1	\$142.24	2
	Bound Tree Medical	Capital	42023016801	0168-01	Each	\$149.8900	10	\$1,498.90	3
	Midwest Medical Supply					No bid			
	Nashville Med. & EMS					No bid			
13	Epinephrine 1:10,000 ; 1 mg / 10 ml - Luer	nl - Luer			ļ				:
	Bound Tree Medical	Pfizer	409492134	374921	Each	\$5.3700	10	\$53.70	1
	Moore Medical, LLC.	International Med Systems		12536	Each	\$5.8800	10	\$58.80	2
	Henry Schein, Inc.	QIV	409492134	2488175	Each	\$9.4600	100	\$946.00	3
	Midwest Medical Supply					No bid			
	Nashville Med. & EMS					No bid			
14	Etomidate (Amidate); 40 mg / 20 ml - Vial	n - Vial				_			
	Bound Tree Medical	Pfizer	409669502	6695-02	Each	\$7.5100	10	\$75.10	1
	Moore Medical, LLC.	Hospira	6695-02	84783	Each	\$7.5200	10	\$75.20	2
	Henry Schein, Inc.	AuroMedics Phama	55150022220	1298387	Each	\$12.7000	10	\$127.00	3
	Midwest Medical Supply					No bid			
	Nashville Med. & EMS					No bid			
15	Fentanyl; 0.25 mg / 5 ml Vial						,		
	Bound Tree Medical	Pfizer	09094-25	379425	Each	\$1.8580	25	\$46.45	1
	Henry Schein, Inc.	Pfizer	409909425	1046541	Each	\$2.8000	25	\$70.00	2

						AWAND			
	DESCRIPTION	BRAND	MFG ITEM #	Vendor#	UNIT / BASE FOR AWARD	PRICE PER UNIT	CASE	PRICE PER CASE	RANK
	Moore Medical, LLC.					No bid			
	Nashville Med. & EMS					No bid			
	Midwest Medical Supply					No bid			
16	Glucagon; 1 mg (1 unit)								
	Bound Tree Medical	Fresenius	702601	0593-03	Each	\$188.1900	1	\$188.19	1
	Moore Medical, LLC.	American Pharmaceutica	509603	34206	Each	\$194.0000	1	\$194.00	2
	Henry Schein, Inc.	Eli Lily	285809	2283026	Each	\$553.1800	1	\$553.18	3
	Midwest Medical Supply					No bid			
	Nashville Med. & EMS					No bid			
17	Haloperidol; 5 mg / 1 ml - Vial								
	Henry Schein, Inc.	Malan Instutional	67457042612	1219860	Each	\$1.7600	25	\$44.00	1
	Bound Tree Medical	Cardinal Health	0806-01	0426-12	Each	\$2.4800	10	\$24.80	2
	Moore Medical, LLC.	Sagent	2476398	35232	Each	\$4.8800	1	\$4.88	3
	Nashville Med. & EMS					No bid			
	Midwest Medical Supply					No bid			
18	Insta-Glucose; 31 g - Tube								
	Bound Tree Medical	Valeant	0746-31	464631	Each	\$3.4900	1	\$3.49	
	Nashville Med. & EMS	Life Nutrition	6739	6239	Each	\$3.9900	12	\$47.88	2
	Moore Medical, LLC.	Valeant		13138	Each	\$4.0300	24	\$96.72	3
	Henry Schein, Inc.	Valcant Pharm	1758689	1235472	Each	\$4.7200	8	\$14.16	4
	Midwest Medical Supply					No bid			
19	Lasix; 40 mg / 4 ml - Luer						·		
	Bound Tree Medical	Pfizer	09631-04	1806063501	Each	\$10.1500	10	\$101.50	L-1
	Henry Schein, Inc.	Pfizer Injectionables	409963104	1047055	Each	\$15.6200	10	\$156.20	2
	Moore Medical, LLC.					No bid			
	Nashville Med. & EMS					No bid			
	Midwest Medical Supply					No bid			
20	Lidocaine; 100 mg / 5 ml - Luer								
	Bound Tree Medical	Pfizer	04903-34	374904	Each	\$2.9800	10	\$29.80	1
	Moore Medical, LLC.	International Med Systen	15810	15810	Each	\$4.4100	1	\$4.41	2

PESCRIPTION   Price in Justice   Price in Justice										
Midwest Medical Supply   No bid		DESCRIPTION	BRAND	MFG ITEM #	Vendor #	UNIT / BASE FOR AWARD	PRICE PER UNIT	CASE	PRICE PER CASE	RANK
Midwest Medical Supply   More Midwest Medical Supply   More Med		Louis Colonia	( ) ( ) ( ) ( ) ( ) ( ) ( ) ( ) ( ) ( )	305151004	1046066	- Lack	0000	ç	00000	r
Nashwille Med. & EMS   No Det Cose 5% / 500 ml - Pre-mix drip bag   Bound Tree Medical Supply   No Det Cose 5% / 500 ml - Pre-mix drip bag   Bound Tree Medical   Bounder tealthcare   280973   1536016   Each   56.4500     Henry Schein, Inc.   Bancer Healthcare   280973   1536016   Each   510.000     Molow EMERICAL, LLC.   No Did   No		neiny Schem, inc.	בוולבו ווווברווסווקמובי	403T37303	T040907	בפכנו	24.6200	OT .	246.20	۰
Indicatine withoutcrose; 2 gm/ Destrose 5% / 500 ml - Pre-mix drip bag   Banter Healthcare   280973   280973   554.500 ml - Pre-mix drip bag   Banter Healthcare   280973   1536016   Each   554.500 ml - Pre-mix drip bag   Banter Healthcare   280973   1536016   Each   554.500 ml - Pre-mix drip bag   Banter Healthcare   280973   1536016   Each   510.3000 ml - Pre-mix drip with a standard line.   Present   280973   1536016   Each   Signosco   Present   Signosco   Si		Midwest Medical Supply					No bid			
Banker Medical   Banker Healthcare   289973   289973   Each   56.4500		Nashville Med. & EMS					No bid			
Bound Tree Medical         Barter Healthcare         280973         280973         1536016         Each         \$6.4500           Midwest Medical Supply         Moore Medical Supply         Moore Medical Supply         No bid         No bid           Intervision Midwest Medical Supply         Freenins         303-05         660-05         Each         \$1.1600           Bound Tree Medical Supply         Freenins         303-05         660-05         Each         \$1.1000           Moore Medical Supply         Freenins         303-05         660-05         Each         \$1.1000           Moore Medical Supply         Freenins         303-05         860-05         Each         \$1.1000           Moore Medical Supply         Free Injectables         1754-10         2491401         Each         \$1.100           Majwest Medical Supply         Free Injectables         4091754.10         2587918         Each         \$1.3500           Majwest Medical Supply         Free us         663-10EA         Each         \$2.3000           Majwest Medical Supply         Free us         63322006410         16674401         Each         \$2.3000           Majwest Medical Supply         Free us         63322006410         11667440         Each         \$2.3000	21	Lidocaine w/Dextrose; 2 gm/ Dextro	ose 5% / 500 ml - Pre-	mix drip bag				_		
Henry Schein, Inc.   Baster Healthcare   280973   1536016   Each   \$10.3000     Midwest Medical, LLC.   Mobine   Mobin		Bound Tree Medical	Baxter	280973	280973	Each	\$6.4500	18	\$116.10	1
Motore Medical, LLC.   No bid		Henry Schein, Inc.	Baxter Healthcare	2B0973	1536016	Each	\$10.3000	18	\$185.40	2
Moore Medical, LLC.   No bid	1	Midwest Medical Supply					No bid			
Nashville Med. & EMS		Moore Medical, LLC.					No bid			
Henry Schein, Inc.   Canst Usexience   3600003310   1219031   Each   51.1600     Henry Schein, Inc.   Canst Usexience   3600003310   1219031   Each   51.1600     Moore Medical Supply   Magnesium Suffate ; Sgm / 10ml - Luer   I77805   83622   Each   S1.1760     Magnesium Suffate ; Sgm / 10ml - Luer   I7784-10   R3622   Each   S18.5400     Moore Medical LLC.   Hospira   17784-10   R3622   Each   S18.5400     Magnesium Suffate ; Sgm / 10ml - Luer   I7784-10   R3622   Each   S18.5400     Magnesium Suffate ; Sgm / 10ml - Vial   I7784-10   I7784-10		Nashville Med. & EMS					No bid			
Henry Schein, Inc.         Claris tifescience         36000003310         1219031         Each         \$1.1600           Moore Medical         Fresenius         303-05         660-05         Each         \$1.1700           Moore Medical LLC.         Hospira         177805         87402         Each         \$1.1700           Magnesium Sulfate ; Sgm / 10ml - Luer         Hospira         1754-10         83622         Each         \$1.1760           Moore Medical LLC.         Hospira         1754-10         83622         Each         \$18.5400           Henry Schein, Inc.         Pitzer Injectables         409175410         2587918         Each         \$20.0100           Magnesium Sulfate ; Sgm / 10ml - Vial         Freseus         409175410         2587918         Each         \$23.300           Magnesium Sulfate ; Sgm / 10ml - Vial         Freseus         63323006410         166740         Each         \$23.900           Magnesium Sulfate ; Sgm / 10ml - Vial         Freseus         63323006410         166740         Each         \$2.3900           Modore Medical Supply         Modore Medical LLC.         Pitzer         409175410         Rech         \$2.3900           Midazolam; 10 mg / 2 ml - Vial         Pitzer Injectables         63323006410         1166740         <	22	Lopressor (Metoprolol); 5 mg / 5 m	ıl - Vial							
Bound Tree Medical Midwest Medical LLC.         Fresenius         303-05         660-05         Each S1,1700           Moore Medical LLC.         Hospira         177805         87402         Each S1,1760           Magnesium Sulfate; S gm / 10ml - Lucr         Magnesium Sulfate; S gm / 10ml - Lucr         Hospira         1754-10         83622         Each S1,85400           Bound Tree Medical LLC.         Prizer Injectables         4091754.10         74491401         Each S1,8200         520,0100           Henry Schein, Inc.         Prizer Injectables         4091754.10         2587918         Each S1,8200         80,010           Magnesium Sulfate; S gm / 10ml - Vial         Freseius         63323006410         11667440         Each S1,9200         82,3900           Midwest Medical Supply         Freseius         63323006410         11667440         Each S1,400         No bid           Midwest Medical Supply         Freseius         63323006410         11667440         Each S1,400         No bid           Midwest Medical Supply         Freseius         63323006410         11667440         Each S1,4390         No bid           Midwest Medical Supply         Prizer Injectables         409230802         37,113         Each S1,4390         No bid           Midwest Medical Supply         Prizer Injectables		Henry Schein, Inc.	Claris Lifescience	36000003310	1219031	Each	\$1.1600	10	\$11.60	1
Moore Medical, LLC.         Hospira         177805         87402         Each         \$1.1760           Midwest Medical Supply         Indiducest Medical Supply         No bid         No bid           Magnesium Sulfate ; 5 gm / 10ml - Luer         1754-10         83622         Each         \$18.5400           Moore Medical, LLC.         Hospira         1754-10         74491401         Each         \$18.5400           Moore Medical, LLC.         Piter injectables         409175410         2587918         Each         \$18.5400           Midwest Medical Supply         Piter injectables         409175410         2587918         Each         \$18.5400           Magnesium Sulfate ; 5 gm / 10ml · Vial         Freselus         63323006410         11667440         Each         \$2.3900           Midwest Medical Supply         Freselus         63323006410         11667440         Each         \$2.3900           Midazolam; 10 mg / 2 ml · Vial         Moore Medical LLC.         Piter injectables         409230802         37.1113         Each         \$2.3900           Henry Schein, Inc.         Piter injectables         409230802         1277906         Each         \$2.3900           Henry Schein, Inc.         Piter injectables         409230802         37.1113         Each		Bound Tree Medical	Fresenius	303-05	90-099	Each	\$1.1700	10	\$11.70	2
Midwest Medical Supply         No bid           Nashville Med. & EMS         To bid           Magnesium Sulfate; 5 gm / 10ml - Luer         1754-10         83622         Each         \$18.5400           Bound Tree Medical, LLC.         Hospira         1754-10         74491401         Each         \$20.0100           Henry Schein, Inc.         Pitzer Injectables         409175410         2587918         Each         \$20.0100           Magnesium Sulfate; 5 gm / 10ml - Vial         Freseus         409175410         2587918         Each         \$20.0100           Magnesium Sulfate; 5 gm / 10ml - Vial         Freseus         63323006410         11667440         Each         \$2.3900           Midwest Medical Supply         Freseus         63323006410         11667440         Each         \$2.3000           Midwest Medical Supply         Freseus         63323006410         11667440         Each         \$2.3000           Midwest Medical Supply         Midwest Medical Supply         Pfizer         409230802         371113         Each         \$2.3000           Midwest Medical Supply         Pfizer Injectables         409230802         1277906         Each         \$2.3000           Midwest Medical Supply         Moder Medical Supply         Moder Medical Supply         Moder Medi		Moore Medical, LLC.	Hospira	177805	87402	Each	\$1.1760	10	\$11.76	е
Magnesium Sulfate ; 5 gm / 10ml - Luer         Inopinal Magnesium Sulfate ; 5 gm / 10ml - Luer         Inopinal Incended In		Midwest Medical Supply					No bid			
Magnesium Sulfate ; 5 gm / 10ml - Luer         1754-10         83622         Each         \$18.5400           Bound Tree Medical, LLC.         Hospira         1754-10         74491401         Each         \$20.0100           Henry Schein, Inc.         Pfizer Injectables         409175410         2587918         Each         \$31.5200           Midwest Medical Supply         Pfizer Injectables         409175410         2587918         Each         \$31.5200           Magnesium Sulfate ; 5 gm / 10ml - Vial         Freseus         63323006410         Leach         \$2.3900           Henry Schein, Inc.         Freseus         63323006410         11667440         Each         \$3.400           Midwest Medical Supply         Freseus         63323006410         11667440         Each         \$3.300           Midwast Medical, LLC.         Moore Medical, LLC.         A09230802         371113         Each         \$1.4390           Midwast Medical Supply         Pfizer Injectables         409230802         1277906         Each         \$2.3000           Midwest Medical, LLC.         Moore Medical, LLC.         No bid           Moore Medical, LLC.         Pfizer Injectables         409230802         1277906         Each         \$1.4390           Moore Medical, LLC.         Moo		Nashville Med. & EMS					No bid			
Moore Medical, LLC.         Hospira         1754-10         83622         Each         \$18.5400           Bound Tree Medical         Pfizer         01754-10         7491401         Each         \$20,0100           Henry Schein, Inc.         Pfizer Injectables         409175410         2587918         Each         \$31.5200           Midwest Medical Supply         Anshville Med. & EMS         Anshville Med. & Each         \$2.3900           Midwest Medical Supply         Freselus         63323006410         11667440         Each         \$2.3900           Midwest Medical Supply         Freselus         63323006410         11667440         Each         \$3.400           Midwest Medical LLC.         Anshville Med. & EMS         Freer Injectables         A09230802         1277906         Each         \$1.4390           Midwest Medical Supply         Freer Injectables         409230802         1277906         Each         \$2.3000           Midwest Medical Supply         Midwest Medical Supply         Fach         \$2.3000         No bid           Moore Medical, LLC.         Midwest Medical Supply         Moore Medical, LLC.         Moore Medical, LLC.         Moore Moor	23	Magnesium Sulfate; 5 gm / 10ml - I	Luer							
Bound Tree Medical Hongs         Prizer Injectables         01754-10         74491401         Each 520.0100         \$20.0100           Midwest Medical Supply         Midwest Medical Supply         Image:		Moore Medical, LLC.	Hospira	1754-10	83622	Each	\$18.5400	10	\$185.40	1
Henry Schein, Inc.         Pfizer Injectables         409175410         2587918         Each         \$31.5200           Magnesium Sulfate ; Sam / 10ml - Vial         Magnesium Sulfate ; Sam / 10ml - Vial         Freselus         63323006410         11667440         Each         \$2.3900           Moore Medical Supply         Freselus         63323006410         11667440         Each         \$2.3900           Midwest Medical Supply         Freselus         63323006410         11667440         Each         \$2.3900           Midazolam; 10 mg / 2 ml - Vial         Frizer         003308-02         371113         Each         \$1.4390           Midwest Medical Supply         Prizer Injectables         409230802         1277906         Each         \$2.3000           Midwest Medical Supply         Prizer Injectables         409230802         1277906         Each         \$2.3000           Moore Medical, ILC.         Moore Medical, ILC.         No bid           Moore Medical, LLC.         No bid		Bound Tree Medical	Pfizer	01754-10	74491401	Each	\$20.0100	10	\$200.10	2
Midwest Medical Supply         No bid           Magnesium Sulfate; 5 gm / 10ml - Vial         Freselus         63323006410         11667440         Each (2.3900           Bound Tree Medical Supply         Freselus         63323006410         11667440         Each (2.3900           Midwest Medical Supply         Freselus         63323006410         11667440         Each (2.3900           Moore Medical Supply         Freselus         63323006410         11667440         Each (2.3900           Midwest Medical Supply         Moore Medical Supply         No bid           Midazolam; 10 mg / 2 ml - Vial         Prizer Injectables         409230802         1277906         Each (2.4390           Midwest Medical Supply         Prizer Injectables         409230802         1277906         Each (2.4390           Midwest Medical Supply         Moore Medical, LLC.         No bid           Moore Medical, LLC.         No bid           Moshville Med & EMS         No bid		Henry Schein, Inc.	Pfizer Injectables	409175410	2587918	Each	\$31.5200	10	\$315.20	3
Magnesium Sulfate; 5 gm / 10ml - Vial         Reseius         63323006410         1064.10EA         Each         \$2.3900           Bound Tree Medical Supply         Freseius         63323006410         11667440         Each         \$2.3900           Midwest Medical Supply         Freseius         63323006410         11667440         Each         \$3.4400           Moore Medical Supply         Freseius         63323006410         11667440         Each         \$3.3400           Midazolam; ILC.         Moore Medical Supply         Prizer         No bid           Midazolam; 10 mg / 2 ml - Vial         Prizer         371113         Each         \$1.4390           Henry Schein, Inc.         Prizer Injectables         409230802         1277906         Each         \$2.3000           Midwest Medical Supply         Moore Medical, LLC.         No bid           Moore Medical, LLC.         Nobid         No bid           Moshville Med, & EMS         No bid		Midwest Medical Supply					No bid			
Magnesium Sulfate ; 5 gm / 10ml - Vial         Freseus         63323006410         11667440         Each         \$2.3900           Henry Schein, Inc.         Freseus         63323006410         11667440         Each         \$3.4400           Midwest Medical Supply         Freseus         63323006410         11667440         Each         \$3.4400           Midazolam; ILC.         Moore Medical, LLC.         No bid           Nidazolam; 10 mg / 2 ml - Vial         Prizer         Prizer Injectables         409230802         371113         Each         \$1.4390           Henry Schein, Inc.         Prizer Injectables         409230802         1277906         Each         \$2.3000           Midwest Medical Supply         Moore Medical, LLC.         No bid           Moore Medical, LLC.         No bid           Nashville Med. & EMS         No bid		Nashville Med. & EMS					No bid			
Bound Tree Medical         Freseius         63323006410         11667440         Each         \$2.3900           Midwest Medical, LLC.         Moore Medical, LLC.         Anoore Medical, LLC.         No bid         No bid           Midazolam; 10 mg / 2 ml · Vial         Midazolam; 10 mg / 2 ml · Vial         Pfizer Injectables         409230802         1277906         Each         \$1.4390           Moore Medical, LLC.         Pfizer Injectables         409230802         1277906         Each         \$2.3000           Midwest Medical Supply         Moore Medical, LLC.         No bid           Moore Medical, LLC.         No bid           Mashville Med, & EMS         No bid	24	Magnesium Sulfate - 5 om / 10ml - 1	ial							
Henry Schein, Inc.         Freseius         63323006410         11667440         Each         \$3.4400           Midwest Medical Supply         Moore Medical, LLC.         No bid         No bid           Midazolam; 10 mg / 2 ml · Vial         Pfizer         02308-02         371113         Each         \$1.4390           Henry Schein, Inc.         Pfizer Injectables         409230802         1277906         Each         \$2.3000           Midwest Medical Supply         Moore Medical, LLC.         No bid           Moore Medical, LLC.         No bid           Nashville Med. & EMS         No bid		Bound Tree Medical	Freseius		064-10EA	Each	\$2.3900	25	\$59.75	1
Midwest Medical Supply         Moore Medical Supply         No bid           Nashville Med. & EMS         No bid           Midazolam; 10 mg / 2 ml · Vial         Pfizer           Bound Tree Medical         Pfizer Injectables         409230802         371113         Each         \$1.4390           Midwest Medical Supply         Pfizer Injectables         409230802         1277906         Each         \$2.3000           Moore Medical, LLC.         No bid           Nashville Med. & EMS         No bid		Henry Schein, Inc.	Freseius	63323006410	11667440	Each	\$3.4400	25	\$86.00	2
Moore Medical, LLC.         No bid         No bid           Midazolam; 10 mg / 2 ml · Vial         Pfizer         02308-02         371113         Each         \$1.4390           Henry Schein, Inc.         Pfizer Injectables         409230802         1277906         Each         \$2.3000           Midwest Medical Supply         Moore Medical, LLC.         No bid           Moshville Med. & EMS         No bid           No bid         No bid		Midwest Medical Supply					No bid			
Midazolam; 10 mg / 2 ml · Vial         Pfizer         02308-02         371113         Each         \$1.4390           Henry Schein, Inc.         Pfizer Injectables         409230802         1277906         Each         \$2.3000           Midwest Medical Supply         Moore Medical, LLC.         No bid           Moshville Med. & EMS         No bid           No bid         No bid		Moore Medical, LLC.					No bid			
Midazolam; 10 mg / 2 ml • Vial         Pfizer         02308-02         371113         Each         \$1.4390           Bound Tree Medical         Pfizer Injectables         409230802         1277906         Each         \$2.3000           Midwest Medical Supply         Moore Medical, LLC.         No bid           Moore Medical, LLC.         No bid           Nashville Med. & EMS         No bid		Nashville Med. & EMS					No bid			
Pfizer         Pfizer Injectables         409230802         1277906         Each         \$1.4390           Pfizer Injectables         409230802         1277906         Each         \$2.3000           No bid         No bid           No bid         No bid	25	Midazolam; 10 mg / 2 ml - Vial								
Pfizer Injectables         409230802         1277906         Each         \$2.3000           No bid         No bid           No bid         No bid		Bound Tree Medical	Pfizer	02308-02	371113	Each	\$1.4390	10	\$14.39	1
		Henry Schein, Inc.	Pfizer Injectables	409230802	1277906	Each	\$2.3000	10	\$23.00	2
51		Midwest Medical Supply					No bid			
		Moore Medical, LLC.					No bid			
		Nashville Med. & EMS					No bid			

						AWARD			
	DESCRIPTION	BRAND	MFG ITEM #	Vendor #	UNIT / BASE FOR AWARD	PRICE PER UNIT	CASE	PRICE PER CASE	RANK
26	Morphine Sulfate; 10 mg / 1 ml - Pre-filled	Pre-filled							
	Bound Tree Medical	Pfizer	01893-01	1893-01	Each	\$2.3150	10	\$23.15	1
	Henry Schein, Inc.	Pfizer Injectables	409189301	1187246	Each	\$3.4800	10	\$34.80	2
	Midwest Medical Supply					No bid			
	Moore Medical, LLC.					No bid			
	Nashville Med. & EMS					No bid			
72	Narcan; 2 mg / 2 ml - Luer								
	Bound Tree Medical	IMS Limited	3369-00	373369	Each	\$35.6900	10	\$356.90	1
	Moore Medical, LLC.	Intl Medication Systems	1131093	11216	Each	\$38.8200	1	\$38.82	2
	Henry Schein, Inc.	Intl Medication Systems	76329146901	1212211	Each	\$63.0000	10	\$630.00	3
	Midwest Medical Supply					no bid			
	Nashville Med. & EMS			:		No bid			
28	Narcan; 2 mg / 2 ml - Vial								
	Bound Tree Medical	Pfizer	409121501	371215	Each	\$19.8500	10	\$198.50	1
	Henry Schein, Inc.	Intl Medication Systems	76329146901	1212211	Each	\$63.0000	10	\$630.00	2
	Moore Medical, LLC.					No bid			
	Nashville Med. & EMS					No bid			
	Midwest Medical Supply					No bid			
59	  Nitroglycerin; 50 mg / 250 ml 200 n	200 mcg / ml - Pre-mix drip							
	Bound Tree Medical	Baxter	1A0694	118-1A0694EA	Each	\$21.3900	12	\$256.68	1
	Henry Schein, Inc.	Baxter	1A0694	1534438	Each	\$33.3800	12	\$400.56	2
	Midwest Medical Supply					No bid			
	Moore Medical, LLC.					No bid			
	Nashville Med. & EMS			:		No bid			
93	Nitrolingual; 8.5 gm spray								
	Henry Schein, Inc.	Rousacs Point Phamace	76299043004	1275669	Each	\$143.0000	12	\$1,716.00	1
	Moore Medical, LLC.	Perrigo		23713	Each	\$159.8600	1	\$159.86	2
	Bound Tree Medical	Mist	0430-08	1911-43008	Each	\$189.4500	1	\$189.45	m
	Midwest Medical Supply					No bid			
	Nashville Med. & EMS					No bid			
31	Norcuron (Vecuronium Bromide); 20 mg / 25 ml - Vial	0 mg / 25 ml - Vial							
	Bound Tree Medical	Pfizer	409163201	1632-01	Each	\$8.5000	10	\$85.00	1
	Henry Schein, Inc.	Freselus	63323078220	1276634	Each	\$20.9000	10	\$209.00	2

						AWARD			
	DESCRIPTION	BRAND	MFG ITEM #	Vendor #	UNIT / BASE FOR	PRICE PER	CASE	PRICE PER	RANK
					AWARD		ראכא	Jeso.	
	Moore Medical, LLC.					No bid			
	Nashville Med. & EMS					No bid			
	Midwest Medical Supply					No bid			
23	City Im C / mm / content of C								
75	Bound Tree Medical	Dfiver Injectables	409475503	4755-03	Fach	\$0 5000	25	\$12.50	,
	Manage Manager 110	Hacoica	A755 02	95445	do C	\$0.500 \$0.500	27	¢12.50	٠,
	ואוסטוב ואובטוכאו, ברכי	noshira	4/33-03	00440	Facil	00+0.00	53	05.51¢	7
	Henry Schein, Inc.	Heritage Pharmac	23155054741	1255386	Each	\$0.7600	10	\$7.60	m
	Midwest Medical Supply					No Bid			
	Nashville Med. & EMS				'	No bid			
33	Procainamide; 1000 mg / 2 ml - Vial								
	Moore Medical, LLC.	Hospira	1903-01	98065	Each	\$73.3900	25	\$1,834.75	Ħ
	Bound Tree Medical	Pfizer	409190301	7419031	Each	\$82.0300	25	\$2,050.75	2
	Henry Schein, Inc.	Pfizer Injectables	409190301	1292802	Each	\$136.5400	25	\$3,413.50	3
	Midwest Medical Supply					No bid			
	Nashville Med. & EMS					No bid			
34	Rocuronium (Zemuron); 50 mg / 5 ml - Vial	ml - Vial							
	Bound Tree Medical	Pfizer	409955805	9558-05	Each	\$5.2900	10	\$52.90	1
	Moore Medical, LLC.	McKesson	1903897	30609	Each	\$5.6500	10	\$56.50	2
	Henry Schein, Inc.	Pfizer Injectables	409955805	8408619	Each	\$5.6000	10	\$56.00	3
	Nashville Med. & EMS					No bid		:	
	Midwest Medical Supply					No bid			
35	Sodium Bicarbonate; 50 MEQ - Luer								
	Bound Tree Medical	Pfizer	409663734	376637	Each	\$10.2500	10	\$102.50	1
	Moore Medical, LLC.	Intl Medication Systems	2005965	15813	Each	\$10.8800	1	\$10.88	2
	Henry Schein, Inc.	Pfizer Injectables	409663734	1046895	Each	\$16.6000	10	\$166.00	3
	Midwest Medical Supply					No bid			
	Nashville Med. & EMS			1		No bid			
36	Sodium Chloride Flush; 10 ml - Luer								
	Midwest Medical Supply	Nurse Assist	1210-BP (4 box/cs)	s)	Each	\$0.2860	100	\$28.60	1
	Henry Schein, Inc.	AMUSA	2T0805	7000698	Each	\$0.3500	100	\$35.00	2
	Bound Tree Medical	Aquabiliti		600-10	Each	\$0.3600	400	\$144.00	33
	Nashville Med. & EMS	80	306546		Each	\$0.3600	480	\$172.80	4
	Moore Medical, LLC.	B Braun	513576	90969	Each	\$0.4323	100	\$43.23	2

37 Solu-Medrol; 125 mg / 2 ml - Vial Moore Medical, LLC. Bound Tree Medical Henry Schein, Inc. Midwest Medical Supply Nashville Med. & EMS 38 Succinylcholine; (200 mg / ml) 1 Bound Tree Medical Moore Medical, LLC. Henry Schein, Inc. Midwest Medical Supply Nashville Med. & EMS 39 Thiamine; 200 mg / 2 ml - Vial Moore Medical, LLC. Bound Tree Medical Henry Schein, Inc. Midwest Medical Supply Nashville Med. & EMS Nashville Med. & EMS Henry Schein, Inc. Moore Medical LLC. Midwest Medical LLC. Midwest Medical LLC. Midwest Medical LLC. Moore Medical LLC. Moore Medical LLC. Moore Medical LLC. Moore Medical LLC. Midwest Medical LLC. Moore Medical LLC. Moore Medical LLC. Midwest Medical Supply Nashville Med. & EMS Rems		BRAND Pfizer Capital GIV	MFG ITEM #	Vendor #	UNIT / BASE FOR AWARD	PRICE PER UNIT	CASE	PRICE PER CASE	RANK
<u> </u>		Pfizer Capital GIV							
		Pfizer Capital GIV							
	ld) 10 m	Capital GIV		11762	Each	\$10.0500	25	\$251.25	н
	γ (μ γ	NS		0047-22	Each	\$12.3600	25	\$309.00	2
	l) 10 m		9004725	2480254	Each	\$20.2800	100	\$2,028.00	3
	l) 10 m					No bid			
	I) 10 m					No bid			
	A	I - Vial							
	<b>A</b>	Pfizer	06629-02	375204	Each	\$25.5200	25	\$638.00	1
	in, Inc. ledical Supply fed. & EMS	Hospira	6629-02	74625	Each	\$27.2900	25	\$682.25	2
	ledical Supply Aed. & EMS / 2 ml - Vial	Pfizer Injectables	409662902	1046965	Each	\$36.4400	25	\$911.00	3
	ned. & EMS / 2 ml - Vial					No bid			
	/ 2 ml - Vial					No bid		į	
<del></del>									
	dical, LLC.	American Pharaceuticals	3	67046	Each	\$11.7100	25	\$292.75	1
		Freseius	1302	371651	Each	\$12.8000	1000	\$12,800.00	2
	in, Inc.	Mylan Institutional	67457019602	1188484	Each	\$17.0700	25	\$426.75	3
	Midwest Medical Supply					No bid			
	Nashville Med. & EMS					No bid			
	Franexamic Acid: 1000 mg / 10 ml - Vial	Vial							
Henry Sch Moore Mt Midwest I Nashville	Medical	Cardinal Health	5036546	0605-10	Each	\$20.9500	10	\$209.50	-
Moore Me Midwest I Nashville		Virtus Pharmac	17478021710	1290937	Each	\$22.5000	10	\$225.00	2
Midwest f Nashville		X-Gen Pharmaceuticals		24198	Each	\$36.1200	10	\$361.20	m
Nashville	pply					No Bid			
	Nashville Med. & EMS					No bid			
41 Unistik 3 Extra	Unistik 3 Extra Safety Lancets; 21G Depth 2.0 mm	)epth 2.0 mm							
Nashville	Nashville Med. & EMS	Owen Mumford	AT1014		Each	\$0.1050	200	\$21.00	1
Bound Tree Medical		Arkay	980121	2764-80121	Each	\$0.1097	100	\$10.97	7
Midwest	Midwest Medical Supply	Owen Mumford	AT1014		Each	\$0.1210	200	\$24.20	m
Moore Medical, LLC.		Owen Mumford	AT1015	81002	Each	\$0.1556	100	\$15.56	4
Henry Schein, Inc.		OwenMunmford	AT1012	6684166	Each	\$0.1600	100	\$16.00	2
42 Vasopressin; 20	Vasopressin; 20 units / 1 mil - Vial								
Bound Tree Medical		Capital	995933	0164-25	Each	\$219.0000	25	\$5,475.00	1
Henry Schein, Inc.		Par Sterile Products	42023016425	8210091	Each	\$304.3600	25	\$7,609.00	2
Moore Medical, LLC.	dical, LLC.					No bid			
Nashville	Nashville Med. & EMS					No bid			

	DESCRIPTION	BRAND	MFG ITEM #	Vendor#	UNIT / BASE FOR AWARD	PRICE PER UNIT	CASE	PRICE PER CASE	RANK
	Midwest Medical Supply					No bid			
43	Xoponex; 0.63 mg / 3 ml - Unit dose								
	Bound Tree Medical	Capital	2870467	72-2200	Each	\$0.8600	24	\$20.64	1
	Henry Schein, Inc.	Akorn	5170527	2285367	Each	\$10.2800	24	\$246.72	2
	Midwest Medical Supply					No bid			
	Moore Medical, LLC.					No bid			
	Nashville Med. & EMS					No bid			
4	Ipratropium Bromide / Albutherol (DuoNeb), 0.5mg / 3.0mg	(DuoNeb), 0.5mg / 3.0r	ng.						
	Henry Schein, Inc.	Nephron Pharmac Corp	487020160	1241930	Each	\$0.1400	09	\$8.40	1
	Moore Medical, LLC.	McKesson	3225307	16273	Each	\$0.1887	30	\$5.66	2
	Bound Tree Medical	Nephron Pharmac Corp		0201-01	Each	\$0.3700	30	\$11.10	ю
	Midwest Medical Supply					No bid			
	Nashville Med. & EMS					No bid			:
45	Ketamine, Class III, 50mg / ml, 10 ml Vial	nl Vial							
	Bound Tree Medical	West-Ward		9508-10	Each	\$4.7250	10	\$47.25	1
	Henry Schein, Inc.	GIV	409205310	2480507	Each	\$7.5800	10	\$75.80	2
	Midwest Medical Supply					No bid			
	Moore Medical, LLC.					No bid			
	Nashville Med. & EMS					No bid			
46	Levophed, 0.1%, 4 mg/4mi Vial								
	Bound Tree Medical	Pfizer		3375-04	Each	\$23.7900	10	\$237.90	1
	Moore Medical, LLC.	McKesson	3602109	21715	Each	\$23.8000	10	\$238.00	2
	Henry Schein, Inc.	Pfizer Injectables	409144304	2488674	Each	\$38.5400	10	\$385.40	3
	Midwest Medical Supply					No bid			
	Nashville Med. & EMS					No bid			
!	M.A.D. (Mucosal Atomization								
47	Device)								
	Nashville Med. & EMS	Teleflex	MAD300		Each	\$3.9800	25	\$99.50	1
	Henry Schein, Inc.	LMA North America	MAD300	4209994	Each	\$5.2400	25	\$131.00	2
	Midwest Medical Supply		MAD300		Each	\$5.9400	25	\$148.50	3
	Moore Medical, LLC.	Rusch	WLFMAD301	21088	Each	\$6.1500	1	\$6.15	4
	Bound Tree Medical	Teleflux	MAD300	400125	Each	\$6.7500	25	\$168.75	5
48	Sodium Cloride N.S.; 0.9%, 1000 ml bag	bag							
	Moore Medical, LLC.	8 Braun	L8000	69411	Each	\$2.4000	12	\$28.80	1

	DESCRIPTION	BRAND	MFG ITEM #	Vendor #	UNIT / BASE FOR AWARD	PRICE PER UNIT	CASE	PRICE PER CASE	RANK
	Bound Tree Medical	Baxter Heath Care	2B1324X	601324X	Each	\$5.0200	14	\$70.28	2
	Henry Schein, Inc.	Baxter Heath Care	2B1324X	1534612	Each	\$7.6000	14	\$106.40	3
	Midwest Medical Supply					Piq oN			
	Nashville Med. & EMS					No bid			
49	Sodium Cloride N.S.; 0.9%, 500 ml bag	<b>Jag</b>							
	Bound Tree Medical	B. Braun	L8001	358001	Each	\$2.2800	24	\$54.72	1
	Moore Medical, LLC.	B. Braun	L8001	69412	Each	\$2.3300	24	\$55.92	2
	Henry Schein, Inc.	Baxter Heath Care	2813230	1537162	Each	\$6.5400	24	\$156.96	3
	Midwest Medical Supply					No bid			
	Nashville Med. & EMS					No bid			
	Macro Drip Sets; Primary Gravity IV Set with SafeLine®	et with SafeLine®							_
	Split Septum Injection Site and ULTRASITE® Injection Site;	ASITE® Injection Site;							
20	15 drops / ml (86" long) No substitutions	ons							
	Midwest Medical Supply	B. Braun	US1160		Each	\$1.4600	20	\$73.00	1
	Henry Schein, Inc.	B. Braun	US1160		Each	\$1.4700	20	\$73.50	2
	Bound Tree Medical	B. Braun	US1160	351160	Each	\$1.5200	20	\$76.00	3
	Moore Medical, LLC.					No Bid			
	Nashville Med. & EMS					No bid			
		4 4 2							
	Macro Drip Sets; Primary Gravity IV Set with SafeLine	Set with SafeLine*							
	Split Septum Injection Site and ULI RASHE Injection Site	KASHE Injection site							
21	ig) No substit	tutions							
		B. Braun	US1165		Each	\$1.4000	20	\$70.00	
	Midwest Medical Supply	B. Braun	US1165		Each	\$1.4100	50	\$70.50	2
	Bound Tree Medical	B. Braun	US1165	351165	Each	\$1.4900	50	\$74.50	3
	Moore Medical, LLC.					No bid			
	Nashville Med. & EMS					No bid		:	
52	Protective IV Plus Catheters; 14 ga x 1.25" No substitutions	L.25" No substitutions							
	Bound Tree Medical	Curaplex	3068-01	1612-84210	Each	\$1.3600	200	\$272.00	1
	Nashville Med. & EMS	Curaplex	3068-01		Each	\$1.3950	200	\$279.00	2
	Henry Schein, Inc.	Curaplex	3068-01		Each	\$1.4500	200	\$290.00	æ
	Midwest Medical Supply	Curaplex	3068-01		Each	\$1.6500	200	\$330.00	4
	Moore Medical, LLC.	Curaplex	3068-01		Each	\$1.7800	200	\$356.00	S
23	Protective IV Plus Catheters; 16 ga x 1.25" No substitutions	c 1.25" No substitution	15						
	Bound Tree Medical	Curaplex	3062-01	1612-84220	Each	\$1.3600	200	\$272.00	H

	DESCRIPTION	BRAND	MFG ITEM #	Vendor#	UNIT / BASE FOR AWARD	PRICE PER UNIT	CASE	PRICE PER CASE	RANK
	Nashville Med. & EMS	Curaplex	3062-01		Each	\$1.3950	200	\$279.00	2
	Henry Schein, Inc.	Curaplex	3062-01		Each	\$1.4500	200	\$290.00	3
	Midwest Medical Supply	Curaplex	3062-01		Each	\$1.6500	200	\$330.00	4
	Moore Medical, LLC.	Curaplex	3062-01		Each	\$1.7800	200	\$356.00	5
54	Protective IV Plus Catheters; 18 ga x 1.25" No substitutions	x 1.25" No substitution	JNS .						
	Bound Tree Medical	Curaplex	3065-01	1612-84230	Each	\$1.3600	200	\$272.00	1
	Nashville Med. & EMS	Curaplex	3065-01		Each	\$1.3950	200	\$279.00	2
	Henry Schein, Inc.	Curaplex	3065-01		Each	\$1.4500	200	\$290.00	8
	Midwest Medical Supply	Curaplex	3065-01		Each	\$1.6500	200	\$330.00	4
	Moore Medical, LLC.	Curaplex	3065-01		Each	\$1.7800	200	\$356.00	5
55	Protective IV Plus Catheters; 20 ga x 1.25" No substitutions	x 1.25" No substitution	SL						
	Bound Tree Medical	Curaplex	3066-01	1612-84240	Each	\$1.3600	200	\$272.00	1
	Nashville Med. & EMS	Curaplex	3066-01		Each	\$1.3950	200	\$279.00	2
	Henry Schein, Inc.	Curaplex	3066-01		Each	\$1.4500	200	\$290.00	3
	Midwest Medical Supply	Curaplex	3066-01		Each	\$1.6500	200	\$330.00	4
	Moore Medical, LLC.	Curaplex	3066-01		Each	\$1.7800	200	\$356.00	2
56	Protective IV Plus Catheters; 22 ga x 1" No substitu	x 1" No substitutions							
	Bound Tree Medical	Curaplex	3060-01	1612-84250	Each	\$1.3600	200	\$272.00	₽
	Nashville Med. & EMS	Curaplex	3060-01		Each	\$1.3950	200	\$279.00	2
	Henry Schein, Inc.	Curaplex	3060-01		Each	\$1.4500	200	\$290.00	23
	Midwest Medical Supply	Curaplex	3060-01		Each	\$1.6500	200	\$330.00	4
	Moore Medical, LLC.	Curaplex	3060-01		Each	\$1.7800	200	\$356.00	2
57	Protective IV Plus Catheters; 24 ga x 0.75"No substitutions	x 0.75"No substitution	S						
	Nashville Med. & EMS	Curaplex	3063-01		Each	\$1.3950	200	\$279.00	1
	Bound Tree Medical	Curaplex	3063-01	1612-84260	Each	\$1.3600	200	\$272.00	2
	Henry Schein, Inc.	Curaplex	3063-01		Each	\$1.4500	200	\$290.00	3
	Midwest Medical Supply	Curaplex	3063-01		Each	\$1.6500	200	\$330.00	4
	Moore Medical, LLC.	Curaplex	3063-01		Each	\$1.7800	200	\$356.00	2
58	Acuvance Plus Safety I.V. Self-Blunting Needle Catheter; 14 ga X 2"No substitutions	ting Needle Catheter; 1	4 ga X 2"No substit	utions					
	Bound Tree Medical	Smiths Medical	3358	353358	Each	\$1.9500	200	\$390.00	1
	Henry Schein, Inc.	Smiths Medical	3358		Each	\$1.9800	200	\$396.00	2
	Midwest Medical Supply	Smiths Medical	3358		Each	\$2.1100	200	\$422.00	3
	Moore Medical, LLC.		3358		Each	\$2.7676	200	\$553.52	4
	Nashville Med. & EMS					No bid			

						- Communication of the Communi			
	DESCRIPTION	BRAND	MFG ITEM #	Vendor#	UNIT / BASE FOR AWARD	PRICE PER UNIT	CASE	PRICE PER CASE	RANK
1		=							
3	I.V. Solution Dextrose Injection DSW; 50 ml bag No substitutions	W; 50 ml bag No subst	tutions	280002	40.0	0001.03	8	7,0103	,
	Hony Crhain Inc	Bayter Heath Care	2B0086	00000	Fach	\$3.1500	8 8	\$2,07,24	,
	Midwest Medical Supply		000007		100	No bid	3	20000	,
	Moore Medical, LLC.					No bid			
	Nashville Med. & EMS					No bid			
			33 89						
9	I.V. Solution Sodium Chloride Injection; 100 ml bag No substitutions	tion; 100 ml bag No su	bstitutions						
	Bound Tree Medical	Baxter Heath Care	281307	358437	Each	\$1.8400	96	\$176.64	1
	Moore Medical, LLC.	Baxter Heath Care	281307		Each	\$1.8500	96	\$177.60	2
	Henry Schein, Inc.	Baxter Heath Care	281307		Each	\$2.7800	96	\$266.88	3
	Midwest Medical Supply					No bid			
	Nashville Med. & EMS					No bid			
61	Cannula Dual Twinpak Syringe Filling Device No su	ng Device No substitutions	ons						
	Henry Schein, Inc.	B.D.	303390		Each	\$0.3800	100	\$38.00	1
	Moore Medical, LLC.	B.D.	303390		Each	\$0.3930	1000	\$393.00	2
	Midwest Medical Supply	B.D.	303390		Each	\$0.3933	1000	\$393.30	3
	Bound Tree Medical	8.0.	303390	G4128 (10 box/cs	Each	\$0.4200	100	\$42.00	4
	Nashville Med. & EMS					No bid			
62	Hypodermic Syringe Needle; 25 ga x 5/8"No substitutions	x 5/8"No substitutions							
	Nashville Med. & EMS	B.D.	305122		1000 Ea	\$42.7900	1000	\$42.79	1
	Henry Schein, Inc.	B.D.	305122		1000 Ea	\$84.7000	1000	\$84.70	2
	Midwest Medical Supply	B.D.	305122		1000 Ea	\$85.5000	1000	\$85.50	3
	Moore Medical, LLC.	8.0.	305122		1000 Ea	\$85.6000	1000	\$85.60	4
	Bound Tree Medical	8.0.	305122	132-305122BX	1000 Ea	\$94.3000	1000	\$94.30	5
63	Hypodermic Syringe Needle; 21 ga x 1 1/2"No substitutions	x 1 1/2"No substitution	21						
	Nashville Med. & EMS	B.D.	305167		1000 Ea	\$59.8900	1	\$59.89	1
	Henry Schein, Inc.	B.D.	305167		1000 Ea	\$84.7000	1	\$84.70	2
	Midwest Medical Supply	B.D.	305167		1000 Ea	\$85.5000	1	\$85.50	3
	Moore Medical, LLC.	B.D.	305167		1000 Ea	\$90.6000	1	\$90.60	4
	Bound Tree Medical	B.D.	305167	1641-16721	1000 Ea	\$96.0000	1	\$96.00	5
49	Hypodermic Syringe Needle: 18 ga x 1"No substitutions	x 1"No substitutions							

Proceedings   Procedure   Pr							and the same of th			
Hearty Schein, Inc.   1000 Ea S47,5900   1		DESCRIPTION	BRAND	MFG ITEM #	Vendor#	UNIT / BASE FOR AWARD	PRICE PER UNIT	CASE	PRICE PER CASE	RANK
Heinry Schein, Inc.   8.0.   305195   1000 Ea   562,0000   1		Nashville Med. & EMS	B.D.	305195		1000 Ea	\$47.6900	1	\$47.69	1
Midwest Medical Supply   BD.   305195   18109 (100 Each bit)   1000 Each bit   1000 Each bit		Henry Schein, Inc.	8.D.	305195		1000 Ea	\$60.5000	1	\$60.50	2
Moore Medical, LLC.         8.D.         305195         18109 (100 Each bM)         1000 Ea         564,7000         1           Universal LV Standard Pump Ser         No bidstutions         No bid         No bid         No bid         No bid           Bound Tree Medical, LLC.         Moore Medical, LLC.         Moore Medical, LLC.         No bid         No bid         No bid           Moore Medical, LLC.         Moore Medical, LLC.         Moore Medical, LLC.         No bid         No bid         No bid           Moore Medical, LLC.         Complex         504550         38011         Each         531500         10           Moore Medical, LLC.         Complex         504550         38011         Each         531500         10           Moore Medical, LLC.         Complex         504550         38011         Each         531500         10           Road Moore Medical, LLC.         Complex         504550         38011         Each         531500         10           Road Moore Medical, LLC.         Complex         504550         38011         Each         54,4000         10           Eleman Schein, Inc.         Complex         504550         38012         Each         54,4000         10           Moore Medical, LLC.         <		Midwest Medical Supply	<b>B</b> .D.	305195		1000 Ea	\$64.0000	1	\$64.00	m
Bound Tree Medical   8.0.   305595   18109 [100 each bot   1000 Ea   573 3000   1		Moore Medical, LLC.	B.D.	305195		1000 Ea	\$64.7000	1	\$64.70	4
Driversal I.V. Standard Pump Set		Bound Tree Medical	B.D.	305195	18109 (100 each bx)	1000 Ea	\$73.9000	1	\$73.90	5
Bound Tree Medical   Medea   Technology   No bid   No bid	65		No substitutions							
Moore Medical, LLC		ı	Medical Technology				No bid			
Henry Schein, Inc.   Substitutions   Substitutions   Heart Schein, Inc.   Curaplex   S04550   38011   Each   \$3.3900   10		Moore Medical, LLC.			ì		No bid			
ET Tube Flexi Set, Cuffeed; 5.0 mm No substitutions		Henry Schein, Inc.					No bid			
ETTube Flexi Set, Cuffed; 5.0 mm No substitutions         504550         38011         Each         \$1.5000         10           Bound Tree Medical Supply         Curaplex         504550         38011         Each         \$1.5000         10           Midwest Medical Supply         Curaplex         504550         Each         \$3.3900         10           Moore Medical, LLC.         Curaplex         504550         Each         \$3.3900         10           Henry Schein, Inc.         Curaplex         504550         Bach         \$3.3900         10           ET Tube Flexi Set, Cuffed; S.5 mm No substitutions         Curaplex         504550         Bach         \$3.3900         10           Moore Medical         Curaplex         504550         38012         Each         \$3.3900         10           Moore Medical         Curaplex         504555         38012         Each         \$3.3900         10           Moore Medical Supply         Curaplex         504555         Each         \$3.3900         10           Midwest Medical Supply         Curaplex         504555         Each         \$3.3900         10           Midwest Medical Supply         Curaplex         504560         38013         Each         \$3.3900         10 <th></th> <th>Nashville Med. &amp; EMS</th> <th></th> <th></th> <th></th> <th></th> <th>No bid</th> <th></th> <th></th> <th></th>		Nashville Med. & EMS					No bid			
ET Tube Flexi Set, Cuffed; 5.0 mm No substitutions         38011         Each         \$1.5000         10           Nidwest Medical Supply         Curaplex         \$04550         38011         Each         \$1.3000         10           Nidwest Medical Supply         Curaplex         \$04550         Each         \$3.3900         10           Moore Medical, LLC.         Curaplex         \$04550         Each         \$3.3900         10           Henry Schein, Inc.         Curaplex         \$04550         Each         \$3.3900         10           ET Tube Flexi Set, Cuffed; 5.5 mm No substitutions         Guraplex         \$04555         38012         Each         \$3.3900         10           In Schrille Med. & EMS         Curaplex         \$04555         38012         Each         \$3.3900         10           Nakhville Med. & EMS         Curaplex         \$04555         Bach         \$3.3900         10           Midwest Medical Supply         Curaplex         \$04555         Each         \$3.3900         10           Henry Schein, Inc.         Curaplex         \$04550         38013         Each         \$3.3900         10           Moore Medical Supply         Curaplex         \$04560         Bach         \$3.3900         10		Midwest Medical Supply					No bid			
Bound Tree Medical         Curaptex         504550         38011         Each         \$1.5000         10           Midwest Medical Supply         Curaptex         504550         Each         \$3.1900         10           Midwest Medical Supply         Curaptex         504550         Each         \$3.3900         10           Moore Medical LLC.         Curaptex         504550         Each         \$3.3900         10           ET Tube Flexi Set, Cuffed; S.S mm No substitutions         Guraptex         504555         38012         Each         \$4.4000         10           Nashville Med, & EMS         Curaptex         504555         38012         Each         \$1.5000         10           Midwest Medical Supply         Curaptex         504555         38012         Each         \$3.3900         10           Midwest Medical Supply         Curaptex         504555         38013         Each         \$3.3900         10           ET Tube Flexi Set, Cuffed; 6.0 mm No substitutions         Guraptex         504550         38013         Each         \$3.3900         10           Moore Medical Supply         Curaptex         504560         38013         Each         \$3.3900         10           Midwest Medical Supply         Curaptex	99	ET Tube Flexi Set, Cuffed; 5.0 mm N	lo substitutions							
Mashville Med. & EMS         Curaplex         504550         Each         \$3.3900         10           Midwest Medical Supply         Curaplex         504550         Each         \$3.3900         10           Honore Medical, LLC.         Curaplex         504550         Each         \$3.3900         10           Henry Schein, Inc.         Curaplex         504550         38012         Each         \$3.3900         10           Moore Medical, LLC.         Curaplex         504555         38012         Each         \$3.1900         10           Moore Medical, LLC.         Curaplex         504555         38012         Each         \$3.3900         10           Moore Medical, LLC.         Curaplex         504555         38012         Each         \$3.3900         10           Henry Schein, Inc.         Curaplex         504555         Each         \$3.3900         10           Henry Schein, Inc.         Curaplex         504560         38013         Each         \$3.3900         10           Midwest Medical Supply         Curaplex         504560         38013         Each         \$3.3900         10           Mashville Med. & EMS         Curaplex         504560         38013         Each         \$3.3900		Bound Tree Medical	Curaplex	504550	38011	Each	\$1.5000	10	\$15.00	1
Midwest Medical Supply         Curaplex         504550         Each         \$3.3900         10           Honore Medical, LLC.         Curaplex         504550         Each         \$3.3900         10           Henry Schein, Inc.         Curaplex         504550         38012         Each         \$4.4000         10           ET Tube Flexi Set, Cuffed; 5.5 mm No substitutions         504555         38012         Each         \$1.5000         10           Nashville Med. & EMS         Curaplex         504555         38012         Each         \$3.3900         10           Moore Medical, LLC.         Curaplex         504555         Each         \$3.3900         10           Henry Schein, Inc.         Curaplex         504555         Bach         \$3.3900         10           Bound Tree Medical Supply         Curaplex         504560         38013         Each         \$3.3900         10           Midwest Medical Supply         Curaplex         504560         38013         Each         \$3.3900         10           Bound Tree Medical Supply         Curaplex         504560         38013         Each         \$3.3900         10           Moore Medical Supply         Curaplex         504560         38013         Each <td< td=""><th></th><td>Nashville Med. &amp; EMS</td><td>Curaplex</td><td>504550</td><td></td><td>Each</td><td>\$3.1900</td><td>10</td><td>\$31.90</td><td>2</td></td<>		Nashville Med. & EMS	Curaplex	504550		Each	\$3.1900	10	\$31.90	2
ET Tube Flexi Set, Cuffed; 5.5 mm No substitutions         Cuaplex         504550         Each         \$3.5900         10           ET Tube Flexi Set, Cuffed; 5.5 mm No substitutions         Cuaplex         504555         38012         Each         \$4.4000         10           Moore Medical Supply         Cuaplex         504555         38012         Each         \$3.1900         10           Midwest Medical Supply         Cuaplex         504555         8012         Each         \$3.3900         10           ET Tube Flexi Set, Cuffed; 6.0 mm No substitutions         Cuaplex         504555         1801         10           ET Tube Flexi Set, Cuffed; 6.0 mm No substitutions         Cuaplex         504560         38013         Each         \$3.1900         10           Midwest Medical Supply         Cuaplex         504560         38013         Each         \$3.1900         10           Midwest Medical Supply         Cuaplex         504560         38013         Each         \$3.1900         10           Midwest Medical Supply         Cuaplex         504560         8204         Each         \$3.3900         10           Moore Medical Supply         Cuaplex         504560         8204         Each         \$3.4000         10           ET Tube F		Midwest Medical Supply	Curaplex	504550		Each	\$3.3900	10	\$33.90	3
ET Tube Flexi Set, Cuffed; 5.5 mm No substitutions         504550         38012         Each         \$4,4000         10           Bound Tree Medical LLC.         Curaplex         504555         38012         Each         \$1.5000         10           Motore Medical, LLC.         Curaplex         504555         38012         Each         \$3.1900         10           Midwest Medical, LLC.         Curaplex         504555         Each         \$3.3900         10           Henry Scheir, Inc.         Curaplex         504555         Each         \$4.4000         10           ET Tube Flexi Set, Cuffed; 6.0 mm No substitutions         S04560         38013         Each         \$4.4000         10           Midwest Medical Supply         Curaplex         504560         38013         Each         \$3.3900         10           Midwest Medical Supply         Curaplex         504560         38013         Each         \$3.3900         10           Midwest Medical Supply         Curaplex         504560         Bach         \$3.3900         10           Moore Medical, LLC.         Curaplex         504560         Each         \$3.4900         10           Henry Scheir, Inc.         Curaplex         504560         Each         \$3.4000         <		Moore Medical, LLC.	Curaplex	504550		Each	\$3.5900	10	\$35.90	4
ET Tube Flexi Set, Cuffed; S.5 mm No substitutions         504555         38012         Each         \$1.5000         10           Bound Tree Medical         Curaplex         504555         38012         Each         \$1.5000         10           Moore Medical, LLC.         Curaplex         504555         Each         \$3.1900         10           Midwest Medical Supply         Curaplex         504555         Each         \$3.3900         10           Henry Schein, Inc.         Curaplex         504555         Each         \$4.4000         10           Bound Tree Medical Supply         Curaplex         504550         38013         Each         \$1.5000         10           Moore Medical Supply         Curaplex         504560         38013         Each         \$3.1900         10           Moore Medical, LLC.         Curaplex         504560         38013         Each         \$3.3900         10           Moore Medical, LLC.         Curaplex         504560         Each         \$3.3900         10           Moore Medical, LLC.         Curaplex         504560         Each         \$3.3900         10           Henry Schein, Inc.         Curaplex         504560         Each         \$3.4000         10		Henry Schein, Inc.	Curaplex	504550		Each	\$4.4000	10	\$44.00	5
Bound Tree Medical         Curaplex         504555         38012         Each         \$1.5000         10           Nashville Med. & EMS         Curaplex         504555         Each         \$3.1900         10           Moore Medical, LLC.         Curaplex         504555         Each         \$3.5900         10           Henry Schein, Inc.         Curaplex         504555         Each         \$3.3900         10           ET Tube Flexi Set, Cuffed; 6.0 mm No substitutions         S04560         38013         Each         \$4.4000         10           Mashville Med. & EMS         Curaplex         504560         38013         Each         \$3.1900         10           Moore Medical Supply         Curaplex         504560         38013         Each         \$3.3900         10           Moore Medical Supply         Curaplex         504560         38013         Each         \$3.3900         10           Henry Schein, Inc.         Curaplex         504560         Each         \$3.3900         10           Henry Schein, Inc.         Curaplex         504560         Bach         \$4.4000         10           Bound Tree Medical         Curaplex         504560         38014         Each         \$1.5000         10	29	ET Tube Flexi Set, Cuffed; 5.5 mm N	lo substitutions							
FT Tube Flexi Schick         Curaplex         504555         Each         \$3.1900         10           Moore Medical, LLC.         Curaplex         504555         Each         \$3.3900         10           Henry Schein, Inc.         Curaplex         504555         Each         \$3.3900         10           ET Tube Flexi Set, Cuffed; 6.0 mm No substitutions         ET Tube Flexi Set, Cuffed; 6.0 mm No substitutions         504560         38013         Each         \$4.4000         10           Moshville Med. & EMS         Curaplex         504560         38013         Each         \$1.5000         10           Moore Medical Supply         Curaplex         504560         38013         Each         \$3.3900         10           Moore Medical, LLC.         Curaplex         504560         Each         \$3.3900         10           Henry Schein, Inc.         Curaplex         504560         Each         \$3.3900         10           ET Tube Flexi Set, Cuffed; 6.5 mm No substitutions         Curaplex         504560         Each         \$4.4000         10           Bound Tree Medical         Curaplex         S04560         38014         Each         \$1.5000         10           Bound Tree Medical         Curaplex         S04565         38014		Bound Tree Medical	Curaplex	504555	38012	Each	\$1.5000	10	\$15.00	l-1
Moore Medical, LLC.         Curaplex         504555         Each         \$3.5900         10           Midwest Medical Supply         Curaplex         504555         Each         \$3.3900         10           ET Tube Flexi Set, Cuffed; 6.0 mm No substitutions         Curaplex         504560         38013         Each         \$4.4000         10           Nashville Med. & EMS         Curaplex         504560         38013         Each         \$1.5000         10           Midwest Medical Supply         Curaplex         504560         38013         Each         \$3.1900         10           Moore Medical Supply         Curaplex         504560         Each         \$3.3900         10           Moore Medical Supply         Curaplex         504560         Each         \$3.3900         10           Henry Schein, Inc.         Curaplex         504560         Each         \$4.4000         10           ET Tube Flexi Set, Cuffed; 6.5 mm No substitutions         Each         \$4.4000         10           Bound Tree Medical         Curaplex         504565         38014         Each         \$4.4000         10           Bound Tree Medical         Curaplex         504565         38014         Each         \$3.1900         10		Nashville Med. & EMS	Curaplex	504555		Each	\$3.1900	10	\$31.90	2
Midwest Medical Supply         Curaplex         504555         Each         \$3.3900         10           Henry Schein, Inc.         Curaplex         \$04555         Each         \$4,4000         10           ET Tube Flexi Set, Cuffed; 6.0 mm No substitutions         Curaplex         \$04560         38013         Each         \$1.5000         10           Moore Medical Supply         Curaplex         \$04560         Each         \$3.1900         10           Moore Medical Supply         Curaplex         \$04560         Each         \$3.3900         10           Henry Schein, Inc.         Curaplex         \$04560         Each         \$3.3900         10           ET Tube Flexi Set, Cuffed; 6.5 mm No substitutions         Curaplex         \$04560         Each         \$4.4000         10           Bound Tree Medical         Curaplex         \$04565         38014         Each         \$1.5000         10           Bound Tree Medical         Curaplex         \$04565         38014         Each         \$3.1900         10		Moore Medical, LLC.	Curaplex	504555		Each	\$3.5900	10	\$35.90	3
ET Tube Flexi Set, Cuffed; 6.0 mm No substitutions         S04555         Each         \$4.4000         10           ET Tube Flexi Set, Cuffed; 6.0 mm No substitutions         Curaplex         504560         38013         Each         \$1.5000         10           Nashville Med. & EMS         Curaplex         504560         38013         Each         \$3.1900         10           Moore Medical Supply         Curaplex         504560         Each         \$3.3900         10           Henry Schein, Inc.         Curaplex         504560         Each         \$4.4000         10           ET Tube Flexi Set, Cuffed; 6.5 mm No substitutions         Curaplex         504565         38014         Each         \$1.5000         10           Bound Tree Medical         Curaplex         504565         38014         Each         \$1.5000         10           Bound Tree Medical         Curaplex         504565         38014         Each         \$1.5000         10		Midwest Medical Supply	Curaplex	504555		Each	\$3.3900	10	\$33.90	4
ET Tube Flexi Set, Cuffed; 6.0 mm No substitutions         504560         38013         Each         \$1.5000         10           Bound Tree Medical         Curaplex         504560         38013         Each         \$1.5000         10           Nashville Med. & EMS         Curaplex         504560         Each         \$3.1900         10           Moore Medical Supply         Curaplex         504560         Each         \$3.5900         10           Henry Schein, Inc.         Curaplex         504560         Each         \$4.4000         10           ET Tube Flexi Set, Cuffed; 6.5 mm No substitutions         Curaplex         504565         38014         Each         \$1.5000         10           Moshville Med. & EMS         Curaplex         504565         38014         Each         \$3.1900         10		Henry Schein, Inc.	Curaplex	504555		Each	\$4.4000	10	\$44.00	2
Bound Tree Medical         Curaplex         504560         38013         Each         \$1.5000         10           Nashville Med. & EMS         Curaplex         504560         Each         \$3.1900         10           Midwest Medical Supply         Curaplex         504560         Each         \$3.3900         10           Moore Medical, LLC.         Curaplex         504560         Each         \$3.5900         10           Henry Schein, Inc.         Curaplex         504560         Each         \$4.4000         10           ET Tube Flexi Set, Cuffed; 6.5 mm No substitutions         Sod565         38014         Each         \$1.5000         10           Bound Tree Medical         Curaplex         504565         38014         Each         \$1.5000         10	89	ET Tube Flexi Set, Cuffed; 6.0 mm N	lo substitutions						,	
Midwest Medical Supply         Curaplex         504560         Each         \$3.1900         10           Midwest Medical Supply         Curaplex         504560         Each         \$3.3900         10           Moore Medical, LLC.         Curaplex         504560         Each         \$3.5900         10           Henry Schein, Inc.         Curaplex         504560         Each         \$4.4000         10           ET Tube Flexi Set, Cuffed; 6.5 mm No substitutions         Curaplex         504565         38014         Each         \$1.5000         10           Moshville Med. & EMS         Curaplex         504565         38014         Each         \$3.1900         10		Bound Tree Medical	Curaplex	504560	38013	Each	\$1.5000	10	\$15.00	1
Midwest Medical Supply         Curaplex         504560         Each         \$3.3900         10           Moore Medical, LLC.         Curaplex         504560         Each         \$3.5900         10           Henry Schein, Inc.         Curaplex         504560         Each         \$4.4000         10           ET Tube Flexi Set, Cuffed; 6.5 mm No substitutions         S04565         38014         Each         \$1.5000         10           Bound Tree Medical         Curaplex         S04565         38014         Each         \$1.5000         10           Nashville Med. & EMS         Curaplex         S04565         S04565         Each         \$3.1900         10		Nashville Med. & EMS	Curaplex	504560		Each	\$3.1900	10	\$31.90	2
Moore Medical, LLC.         Curaplex         504560         Each         \$3.5900         10           Henry Schein, Inc.         Curaplex         504560         Each         \$4.4000         10           ET Tube Flexi Set, Cuffed; 6.5 mm No substitutions         S04565         38014         Each         \$1.5000         10           Bound Tree Medical         Curaplex         S04565         38014         Each         \$1.5000         10           Nashville Med. & EMS         Curaplex         S04565         Each         \$3.1900         10		Midwest Medical Supply	Curaplex	504560		Each	\$3.3900	10	\$33.90	3
Henry Schein, Inc.         Curaplex         504560         Each         \$4.4000         10           ET Tube Flexi Set, Cuffed; 6.5 mm No substitutions         S04565         38014         Each         \$1.5000         10           Bound Tree Medical         Curaplex         S04565         38014         Each         \$1.5000         10           Nashville Med. & EMS         Curaplex         S04565         \$504565         Each         \$3.1900         10		Moore Medical, LLC.	Curaplex	504560		Each	\$3.5900	10	\$35.90	4
ET Tube Flexi Set, Cuffed; 6.5 mm No substitutions       South of the Medical       South		Henry Schein, Inc.	Curaplex	504560		Each	\$4.4000	10	\$44.00	5
Curaplex         504565         38014         Each         \$1.5000         10           Curaplex         504565         Each         \$3.1900         10	69	ET Tube Flexi Set, Cuffed; 6.5 mm N	lo substitutions							
Curaplex 504565 Each \$3.1900 10		Bound Tree Medical	Curaplex	504565	38014	Each	\$1.5000	10	\$15.00	1
		Nashville Med. & EMS	Curaplex	504565		Each	\$3.1900	10	\$31.90	2

	DESCRIPTION	BRAND	MFG ITEM #	Vendor #	UNIT / BASE FOR AWARD	PRICE PER UNIT	CASE	PRICE PER CASE	RANK
	Midwest Medical Supply	Curaplex	504565		Each	\$3.3900	10	\$33.90	3
	Moore Medical, LLC.	Curaplex	504565		Each	\$3.5900	10	\$35.90	4
	Henry Schein, Inc.	Curaplex	504565		Each	\$4.4000	10	\$44.00	5
20	ET Tube Flexi Set, Cuffed; 7.0 mm No substitutions	No substitutions							
	Bound Tree Medical	Curaplex	504570	38015	Each	\$1.5000	10	\$15.00	1
	Nashville Med. & EMS	Curaplex	504570		Each	\$3.1900	10	\$31.90	2
	Midwest Medical Supply	Curaplex	504570		Each	\$3.3900	10	\$33.90	m
	Moore Medical, LLC.	Curaplex	504570		Each	\$3.5900	10	\$35.90	4
		Curaplex	504570		Each	\$4.4000	10	\$44.00	2
71	ET Tube Flexi Set, Cuffed; 7.5 mm No substitution	No substitutions							
	Bound Tree Medical	Curaplex	504575	38016	Each	\$1.5000	10	\$15.00	1
Г	15	Curaplex	504575		Each	\$3.1900	10	\$31.90	2
	Midwest Medical Supply	Curaplex	504575		Each	\$3.3900	10	\$33.90	m
	Moore Medical, LLC.	Curaplex	504575		Each	\$3.5900	10	\$35.90	4
П	Henry Schein, Inc.	Curaplex	504575		Each	\$4.4000	10	\$44.00	2
72	ET Tube Flexi Set, Cuffed; 8.0 mm No substitutions	Jo substitutions							
	Bound Tree Medical	Curaplex	504580	38017	Each	\$1.5000	10	\$15.00	1
	Nashville Med. & EMS	Curaplex	504580		Each	\$3.1900	10	\$31.90	2
П	<u>≻</u>	Curaplex	504580		Each	\$3.3900	10	\$33.90	3
	Moore Medical, LLC.	Curaplex	504580		Each	\$3.5900	10	\$35.90	4
П	Henry Schein, Inc.	Curaplex	504580		Each	\$4.4000	10	\$44.00	5
73	ET Tube Flexi Set, Cuffed; 8.5 mm No substitutions	lo substitutions							
	Bound Tree Medical	Curaplex	504585	38018	Each	\$1.5000	10	\$15.00	1
	Nashville Med. & EMS	Curaplex	504585		Each	\$3.1900	10	\$31.90	2
	Midwest Medical Supply	Curaplex	504585		Each	\$3.3900	10	\$33.90	٤
	Moore Medical, LLC.	Curaplex	504585		Each	\$3.5900	10	\$35.90	4
П	Henry Schein, Inc.	Curaplex	504585		Each	\$4.4000	10	\$44.00	5
74	ET Tube Flexi Set, Cuffed; 9.0 mm No substitutions	lo substitutions							
	Bound Tree Medical	Curaplex	504590	38020	Each	\$1.5000	10	\$15.00	1
П	Nashville Med. & EMS	Curaplex	504590		Each	\$3.1900	10	\$31.90	2
П	Midwest Medical Supply	Curaplex	504590		Each	\$3.3900	10	\$33.90	3
$\Box$	LC.	Curaplex	504590		Each	\$3.5900	10	\$35.90	4
	Henry Schein, Inc.	Curaplex	504590		Each	\$4.4000	10	\$44.00	2

						AWARD			
	DESCRIPTION	BRAND	MFG ITEM #	Vendor #	UNIT / BASE FOR AWARD	PRICE PER UNIT	CASE	PRICE PER CASE	RANK
5/	ET Tube Flexi Set, Uncuffed; 2.5 mm No substitutions	n No substitutions							
	Bound Tree Medical	Curaplex	506525	38001	Each	\$1.4500	10	\$14.50	1
	Nashville Med. & EMS	Curaplex	506525		Each	\$2.9500	101	\$29.50	2
	Midwest Medical Supply	Curaplex	506525		Each	\$3.2700	10	\$32.70	3
	Moore Medical, LLC.	Curaplex	506525		Each	\$3.3000	10	\$33.00	4
	Henry Schein, Inc.	Curaplex	506525		Each	\$3.9600	10	\$39.60	2
92	ET Tube Flexi Set, Uncuffed; 3.0 mm No substitutions	n No substitutions		;					
	Bound Tree Medical	Curaplex	506530	38002	Each	\$1.4500	10	\$14.50	1
	Nashville Med. & EMS	Curaplex	506530		Each	\$2.9500	10	\$29.50	2
	Midwest Medical Supply	Curaplex	506530		Each	\$3.2700	10	\$32.70	3
	Moore Medical, LLC.	Curaplex	506530		Each	\$3.3000	10	\$33.00	4
	Henry Schein, Inc.	Curaplex	506530		Each	\$3.9600	10	\$39.60	5
77	ET Tube Flexi Set, Uncuffed; 3.5 mm No substitutions	n No substitutions							
	Bound Tree Medical	Curaplex	506535	38003	Each	\$1.4500	10	\$14.50	1
	Nashville Med. & EMS	Curaplex	506535		Each	\$2.9500	10	\$29.50	2
	Midwest Medical Supply	Curaplex	506535		Each	\$3.2700	10	\$32.70	ю
	Moore Medical, LLC.	Curaplex	506535		Each	\$3.3000	10	\$33.00	4
	Henry Schein, Inc.	Curaplex	506535		Each	\$3.9600	10	\$39.60	2
78	ET Tube Flexi Set, Uncuffed; 4.0 mm No substitutio	n No substitutions							
	Bound Tree Medical	Curaplex	506540	2112-38004	Each	\$1.4500	10	\$14.50	1
	Nashville Med. & EMS	Curaplex	506540		Each	\$2.9500	10	\$29.50	2
	Midwest Medical Supply	Curaplex	506540		Each	\$3.2700	10	\$32.70	3
	Moore Medical, LLC.	Curaplex	506540		Each	\$3.3000	10	\$33.00	4
	Henry Schein, Inc.	Curaplex	506540		Each	\$1.7200	10	\$17.20	5
79	ET Tube Flexi Set, Uncuffed; 4.5 mm No substitutio	n No substitutions							
	Bound Tree Medical	Curaplex	506545	38005	Each	\$1.4500	10	\$14.50	1
	Nashville Med. & EMS	Curaplex	506545		Each	\$2.9500	10	\$29.50	2
	Midwest Medical Supply	Curaplex	506545		Each	\$3.2700	10	\$32.70	3
	Moore Medical, LLC.	Curaplex	506545		Each	\$3.3000	10	\$33.00	4
	Henry Schein, Inc.	Curaplex	506545		Each	\$3.9600	10	\$39.60	5
8	ET Tube Flexi Set, Uncuffed; 5.0 mm No substitutions	n No substitutions							

SASE FOR

						- Constant			
	DESCRIPTION	Q 22 40 60 60 60	MEG ITEM #	Vondov	UNIT /	PRICE PER	CASE	PRICE PER	AMM
			# 100		AWARD	UNIT	PACK	CASE	Y NICK
-	Bound Tree Medical	Curaplex	506550	38011	Each	\$1.5000	10	\$15.00	1
	Nashville Med. & EMS	Curaplex	506550		Each	\$2.9500	10	\$29.50	2
	Midwest Medical Supply	Curaplex	206550		Each	\$3.2700	10	\$32.70	3
	Moore Medical, LLC.	Curaplex	206550		Each	\$3.3000	10	\$33.00	4
	Henry Schein, Inc.	Curaplex	506550		Each	\$1.7200	10	\$17.20	5
	Emergency Medical					No bid			
81	ET Tube Slick-Set, Uncuffed; 5.5 mm	n No substitutions							
	Bound Tree Medical	Curaplex	150055	38012	Each	\$1.5000	10	\$15.00	Н
	Henry Schein, Inc.	Curaplex	150055	i i	Each	\$1.8700	10	\$18.70	2
	Nashville Med. & EMS	Curaplex	150055		Each	\$2.9500	10	\$29.50	3
	Midwest Medical Supply	Curaplex	150055		Each	\$3.3700	10	\$33.70	4
	Moore Medical, LLC.	Curaplex	150055		Each	\$3.7500	10	\$37.50	5
82	Meditrace Electrodes, Kendall 530 Foam Electrode,	Foam Electrode, Adult	No substitutions						i
	Henry Schein, Inc.	Covindien	3101326		600 each	\$0.9863	009	\$91.80	L
	Bound Tree Medical	Covindien	3101326	E5910	600 each	\$0.1600	009	\$96.00	2
	Midwest Medical Supply	Covindien	3101326		600 each	\$0.1581	009	\$94.86	3
	Moore Medical, LLC.	Covindien	3101326		600 each	\$0.1825	009	\$109.50	4
	Nashville Med. & EMS					No bid			
83	   Meditrace Electrodes, Kendall 135 Foam Electrode,	Foam Electrode, Pedia	Pediatric No substitutions	ST.	_				
	Henry Schein, Inc.	Covindien	31439766		Each	\$0.16675	009	\$100.05	1
	Midwest Medical Supply	Covindien			Each	\$0.1723	9009	\$103.38	2
	Bound Tree Medical	Covindien	31439766	47-31439766pk	Each	\$0.1800	009	\$108.00	33
	Moore Medical, LLC.					No bid			
	Nashville Med. & EMS					No bid		1	
	I.V. Extension set, 8", removable leur locking site, pinch	ur locking site, pinch							
84	clamp, spin lock connection	,							
	Henry Schein, Inc.	Medsource	MS-83092		Each	\$0.9400	50	\$47.00	1
	Nashville Med. & EMS	Kentron	429018		Each	\$0.9400	20	\$47.00	2
	Bound Tree Medical	Curaplex		05-00812	Each	\$1.1500	50	\$57.50	3
	Midwest Medical Supply	8 Braun	480206	8BM480206	Each	\$0.8800	100	\$88.00	4
	Moore Medical, LLC.					No bid			
85	Web Alcohol Preps No substitutions	S							
	Moore Medical, LLC.	Curaplex	6818		4000 Ea	\$0.0073	4000	\$29.20	1
	Bound Tree Medical	Curaplex	6818	1330-85300	4001 Ea	\$0.0073	4000	\$29.20	1

						CHICARD			
	DESCRIPTION	BRAND	MFG ITEM #	Vendor#	UNIT / BASE FOR AWARD	PRICE PER UNIT	CASE	PRICE PER CASE	RANK
	Henry Schein, Inc.	Curaplex	6818		4000 Ea	\$0.0075	4000	\$30.00	2
	Midwest Medical Supply	Curaplex	6818		4000 Ea	\$0.0078	4000	\$31.20	3
	Nashville Med. & EMS	Curaplex	6818			No bid			
98	Gallant Disposable Prep Razors No substitutions	substitutions							
	Midwest Medical Supply	Dynarex	4251 (50/box)		Each	\$0.3066	250	\$76.65	1
	Nashville Med. & EMS	Dynarex	4251		Each	\$0.3199	250	\$79.98	2
	Henry Schein, Inc.	Dynarex	4251		Each	\$0.3200	250	\$80.00	3
	Bound Tree Medical	Dynarex	4251	540047	Each	\$0.3400	250	\$85.00	4
	Moore Medical, LLC.	Dynarex	4251		Each	\$0.3420	250	\$85.50	2
87	Providine-lodine Prep Pads No substitutions	stitutions							
	Moore Medical, LLC.	Dynarex	1108		Each	\$0.0316	1000	\$31.60	1
	Midwest Medical Supply	Оупагех	1108n(100/box)		Each	\$0.0330	1000	\$33.00	2
	Nashville Med. & EMS	Dynarex	1108		Each	\$0.0330	1000	\$33.00	2
	Bound Tree Medical	Dynarex	1108	609153	Each	\$0.0369	1000	\$36.90	3
	Henry Schein, Inc.	Dynarex	1108		Each	\$0.0400	1000	\$40.00	4
88	Transpore Surgical Tape; X" x 10 yards No substit	rds No substitutions							
	Bound Tree Medical	Medsource	1527-0	533-MS-TT1/2BOX	Each	\$0.2800	24	\$6.72	1
	Midwest Medical Supply	Medsource	1527-1	533-MS-TT1/2BOX	Each	\$0.4258	24	\$10.22	2
	Henry Schein, Inc.	Medsource	1527-2	533-MS-TT1/2BOX	Each	\$0.4500	24	\$10.80	3
	Nashville Med. & EMS	Medsource	1527-3	533-MS-TT1/2BOX	Each	\$0.4600	24	\$11.04	4
	Moore Medical, LLC.	Medsource	1527-4	533-MS-TT1/2BOX	Each	\$0.5883	24	\$14.12	5
68	Transpore Surgical Tape; 1" x 10 yards	rds No substitutions							
	Bound Tree Medical		1527-1		Each	\$0.5600	12	\$6.72	1
	Midwest Medical Supply		1527-1		Each	\$0.8517	12	\$10.22	2
	Henry Schein, Inc.		1527-1		Each	\$0.9000	12	\$10.80	3
	Nashville Med. & EMS		1527-1		Each	\$0.9200	12	\$11.04	4
	Moore Medical, LLC.		1527-1		Each	\$1.1175	120	\$134.10	5
90	Jamshidi Style Intraosseous Needles; 15 ga x 3/8"	s; 15 ga x 3/8" – 1 7/8'	- 1 7/8" (adjustable length)	No substitutions					
	Bound Tree Medical	Medical Innovations	DIN1515X	621515	Each	\$8.5900	10	\$85.90	1
	Nashville Med. & EMS	Medical Innovations	DIN1515X	621516	Each	\$9.3900	10	\$93.90	2
	Henry Schein, Inc.	Medical Innovations	DIN1515X	621517	Each	\$18.5400	10	\$185.40	3
	Moore Medical, LLC.	Medical Innovations	DIN1515X	621518	Each	\$18.7300	10	\$187.30	4

	DESCRIPTION	BRAND	MFG ITEM #	Vendor#	UNIT / BASE FOR AWARD	PRICE PER UNIT	CASE PACK	PRICE PER CASE	RANK
	Midwest Medical Supply	Medical Innovations	DIN1515X	621519	Each	\$19.1500	10	\$191.50	5
91	Diagnostic Pen Light with Pupil Gauge No substit	uge No substitutions							
	Bound Tree Medical	Curaplex	ADC351P	32762	Each	\$0.6200	9	\$3.72	1
	Moore Medical, LLC.	Curaplex	ADC351P	32763	Each	\$0.6250	9	\$3.75	2
	Midwest Medical Supply	Curaplex	ADC351P	32764	Each	\$0.8300	9	\$4.98	3
	Henry Schein, Inc.	Curaplex	ADC351P	32765	Each	\$0.8700	9	\$5.22	4
	Nashville Med. & EMS					No bid			
92	Interlink Injection Site, Male Luer Lock Adapter No substitutions	ock Adapter No substit	utions						
	Nashville Med. & EMS	Baxter	2N3395	353395	Each	\$0.8900	200	\$178.00	1
	Henry Schein, Inc.	Baxter	2N3396	353396	Each	\$1.4200	200	\$284.00	2
	Midwest Medical Supply	Baxter	2N3397	353397	Each	\$1.4672	200	\$293.44	ĸ
	Moore Medical, LLC.	Baxter	2N3398	353398	Each	\$1.5000	200	\$300.00	4
	Bound Tree Medical	Baxter	2N3399	353399	Each	\$1.5200	200	\$304.00	5
93	Adult Veni-Guard No substitutions	\$							
	Midwest Medical Supply	Conmed	705-4428	354428	Each	\$0.3296	200	\$164.80	1
	Nashville Med. & EMS	Conmed	705-4429	354429	Each	\$0.3390	200	\$169.50	2
	Henry Schein, Inc.	Conmed	705-4430	354430	Each	\$0.3600	200	\$180.00	3
	Bound Tree Medical	Conmed	705-4431	354431	Each	\$0.3754	100	\$37.54	4
	Moore Medical, LLC.	Conmed	705-4432	354432	Each	\$0.4396	200	\$219.80	5
94	Sharps Container, red / white; 1 qt No substitutions	No substitutions			·				
	Moore Medical, LLC.	Coviden	8900SA	298898	Each	\$1.5700	100	\$157.00	1
	Henry Schein, Inc.	Coviden	8900SA	298899	Each	\$1.6500	1	\$1.65	2
	Bound Tree Medical	Coviden	8900SA	298900	Each	\$1.6900	100	\$169.00	3
	Midwest Medical Supply	Coviden	8900SA	298901	Each	\$1.7000	100	\$170.00	4
	Nashville Med. & EMS					No bid			
95	Sharps Container, red / white; 5 qt								
	Moore Medical, LLC.	Coviden	31144010	47-31144008	Each	\$2.5300	30	\$75.90	1
	Henry Schein, Inc.	Coviden	31144010	47-31144008	Each	\$2.6400	30	\$79.20	2
	Midwest Medical Supply	Coviden	31144010	47-31144009	Each	\$2.7200	30	\$81.60	3
	Bound Tree Medical	Coviden	31144010	47-31144010	Each	\$2.7800	30	\$83.40	4
	Nashville Med. & EMS					No bid			
			100						
96	BD** Multi-Use One-Piece Sharps Collector; 3.3 qt	ollector; 3.3 qt No subs	No substitutions						

SASE FOR

Heary Schein, Inc.   B.D.   305488   295488   Each   40147   AVAARO   Long							AWARD			
Henry Schein, Inc.		DESCRIPTION	BRAND	MFG ITEM #	Vendor#	UNIT / BASE FOR AWARD	PRICE PER UNIT	CASE	PRICE PER CASE	RANK
Midwest Medical Supply   8.D.   305488   295488   Each		Henry Schein, Inc.	B.D.	305488	295488	Each	\$4.2600	24	\$102.24	1
Moore Medical, LLC.   8.D.   305488   295488   Each		Midwest Medical Supply	B.D.	305488	295488	Each	\$4.4000	20	\$88.00	2
Bound Tree Medical   8.0.   305488   295488   Each		Moore Medical, LLC.	B.D.	305488	295488	Each	\$4.5500	24	\$109.20	3
Nashville Med. & EMS		Bound Tree Medical	B.D.	305488	295488	Each	\$4.8500	24	\$116.40	4
Laryngoscope Blade, Miller, #O Premature         No substitutions         Each           Midwest Medical Supply         Medsource         MS-46420         Each           Bound Tree Medical Supply         Medsource         004830050         2145-13501         Each           Henry Schein, Inc.         Mostwelle Med. & EMS         MS-46421         Each           Laryngoscope Blade, Miller, #1 Infant No substitutions         MS-46421         Each box           Midwest Medical Supply         Medsource         MS-46421         Each           Morore Medical LLC.         Mostwell Medical Supply         Medsource         MS-46421         Each box           Morore Medical LLC.         Mostwell Medical Supply         Medsource         MS-46421         Each box           Morore Medical LLC.         Mostwell Medical Supply         Medsource         MS-46421         Each box           Morore Medical LLC.         Mostwell Medical Supply         Medsource         MS-46422         Each           Morore Medical LLC.         Henry Schein, Inc.         Mostwell Med. & EMS         Each           Morore Medical LLC.         Mostwell Med. & EMS         Mostwell Med. & EMS         Each           Morore Medical LLC.         Mostwell Medical Supply         Medsource         MS-46423         Each           <		Nashville Med. & EMS					No bid			
Midwest Medical Supply         Medsource         MS-46a20         Each           Bound Tree Medical         Curaplex         004850050         2145-13501         Each           Moore Medical, LLC.         Henry Schein, Inc.         MS-46421         Each           Laryngoscope Blade, Miller, #1 Infant         No substitutions         MS-46421         Each box           Laryngoscope Blade, Miller, #2 Child         Locaplex         00485100         2145-13502         Each box           Bound Tree Medical Supply         Medsource         MS-46421         Each         Each           Moore Medical, LLC.         Laryngoscope Blade, Miller, #2 Child         Mossbittations         Each         Each           Moore Medical, LLC.         Curaplex         004852200         2145-13503         Each           Bound Tree Medical Supply         Medsource         MS-46422         Each         Each           Moore Medical, LLC.         Curaplex         004852200         2145-13503         Each           Bound Tree Medical Supply         Medsource         MS-46423         Each           Moore Medical, LLC.         Curaplex         004853300         2145-13504         Each           Moore Medical, LLC.         Moore Medical Supply         Medsource         MS-46423         Each </td <td>97</td> <td>Laryngoscope Blade, Miller; #0 Prer</td> <td>No sub</td> <td>ons</td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td>	97	Laryngoscope Blade, Miller; #0 Prer	No sub	ons						
Bound Tree Medical         Curaplex         004850050         2145-13501         Each           Moore Medical, LLC.         Henry Schein, Inc.         Radsource         MS-46421         Each Dox           Laryngoscope Blade, Miller, #1 Infant No substitutions         MS-46421         Each box           Bound Tree Medical Supply         Medsource         MS-46421         Each box           Henry Schein, Inc.         Moore Medical, LLC.         Each box           Midwest Medical, LLC.         Moore Medical, LLC.         Each           Moore Medical, LLC.         MS-46422         Each           Moore Medical, LLC.         Moore Medical, Supply         Medsource         MS-46422         Each           Moore Medical, LLC.         Curaplex         004852200         2145-13503         Each           Moore Medical, LLC.         Moore Medical, LLC.         MS-46423         Each           Moore Medical, LLC.         Moore Medical, LLC.         Moore Medical, LLC.         Each           Moore Medical, LLC.         Moore Medical, LLC.         Moore Medical, LLC.         Each           Henry Schein, Inc.         Moore Medical, LLC.         Moore Medical, LLC.         Each           Henry Schein, Inc.         Henry Schein, Inc.         Moore Medical, LLC.         Each		Midwest Medical Supply	Medsource	MS-46420		Each	\$3.8100	1	\$3.81	1*
Moore Medical, LLC.		Bound Tree Medical	Curaplex	004850050	2145-13501	Each	\$4.0900	20	\$81.80	7
Henry Schein, Inc.  Laryngoscope Blade, Miller; #1 Infant No substitutions  Midwest Medical Supply Medsource  Moore Medical Supply Moore Medical LLC.  Moore Medical Supply Moore Medical LLC.  Moore Medical Supply Moore Medical LLC.  Moore Medical LLC.  Moore Medical Supply Modsource  Moore Medical LLC.  Moore Medical Supply Medsource  Moore Medical LLC.  Moore Medical LLC.  Henry Schein, Inc.  Nashville Med. & EMS  Laryngoscope Blade, Miller; #3 Medium Adult No substitutions  Midwest Medical Supply Medsource  Moore Medical LLC.  Henry Schein, Inc.  Nashville Med. & EMS  Laryngoscope Blade, Miller; #3 Medium Adult No substitutions  Midwest Medical Supply Medsource  Moore Medical Supply Medsource  Moore Medical Supply Medsource  Moore Medical Supply Medsource  Moore Medical Supply Medsource  Midwest Medical Supply Medsource  Moore Medical Supply Medsource  Medical Supply Medsource  Medical Supply Medsource  Moore Medical Supply Medsource  Medical Supply Medsource  Medical Supply Medsource  Medical Supply Medsource  Moore Medical Supply Med		Moore Medical, LLC.					No bid			
Laryngoscope Blade, Miller; #1 Infant No substitutions         MS-46421         Each           Midwest Medical Supply         Medsource         MS-46421         Each box           Bound Tree Medical Supply         Medsource         004851100         2145-13502         Each box           Henry Schein, Inc.         Moore Medical, LLC.         MS-46422         Each box           I aryngoscope Blade, Miller; #2 Child No substitutions         MS-46422         Each box           I aryngoscope Blade, Miller; #2 Child No substitutions         MS-46422         Each Bound Tree Medical Supply           Moore Medical Supply         Medsource         MS-46423         Each Bound Tree Medical Supply           Midwest Medical Supply         Medsource         MS-46423         Each Bound Tree Medical Supply           Midwest Medical Supply         Medsource         MS-46423         Each Bound Tree Medical Supply           Moore Medical, LLC.         Henry Schein, Inc.         Mod853300         2145-13504         Each Bound Tree Medical Supply           Moore Medical Supply         Medsource         MS-4612         MS-4612         Each Bound Tree Medical Supply           Midwest Medical Supply         Medsource         MS-4612         Each Bound Tree Medical Supply         Each Bound Tree Medical Supply         Each Bound Tree Medical Supply         Each Bound Tree Medical LLC. <td></td> <td>Henry Schein, Inc.</td> <td></td> <td></td> <td></td> <td></td> <td>No bid</td> <td></td> <td></td> <td></td>		Henry Schein, Inc.					No bid			
Laryngoscope Blade, Miller; #1 Infant No substitutions   Midwest Medical Supply   Medsource   Midwest Medical Supply   Medsource   Midwest Medical Supply   Medsource   More Medical LLC.   Moore Medical, LLC.   Moore Medical, LLC.   Mashville Med. & EMS   Laryngoscope Blade, Miller; #2 Child No substitutions   Midwest Medical Supply   Medsource   Midwest Medical Laryngoscope Blade, Macintosh; #2 Child No substitutions   Midwest Medical Supply   Medsource   Midwest Medical Supply   Medsource   Midwest Medical Laryngoscope Blade, Macintosh; #2 Child No substitutions   Midwest Medical Luc.   Moore Medical Laryngoscope Blade, Macintosh; #2 Child No substitutions   Midwest Medical Laryngoscope Blade, Macintosh; #2 Child No substitutions   Midwest Medical Laryngoscope Blade, Macintosh; #2 Child No substitutions   Midwest Medical Laryngoscope Blade, Macintosh; #2 Child No substitutions   Midwest Medical Laryngoscope Blade, Macintosh; #2 Child No substitutions   Midwest Medical Laryngoscope Blade, Macintosh; #2 Child No substitutions   Midwest Medical Laryngoscope Blade, Macintosh; #2 Child No substitutions   Midwest Medical Laryngoscope Blade, Midwest Medical Laryngoscope Blade, Midwest Medical Laryngoscope Blade, Midw		Nashville Med. & EMS					No bid			
Midwest Medical Supply         Medsource         MS-46421         Each           Bound Tree Medical         Curaplex         004851100         2145-13502         Each box           Henry Schein, Inc.         Moore Medical, LLC.         Each box         Each box           I Larymgoscope Blade, Miller, #2 Child         No substitutions         MS-46422         Each           I Larymgoscope Blade, Miller, #2 Child         Moore Medical         Curaplex         004852200         2145-13503         Each           Moore Medical, LLC.         Moore Medical, LLC.         Moore Medical, LLC.         Each         Each           I Larymgoscope Blade, Miller, #3 Medium Adult No substitutions         MS-46423         Each         Each           Midwest Medical, LLC.         Moore Medical Supply         Medsource         MS-46423         Each           Moore Medical, LLC.         Moore Medical, LLC.         MS-46423         Each           Moore Medical, LLC.         Moore Medical, LLC.         MS-46423         Each           Moore Medical, LLC.         Moore Medical, LLC.         MS-46423         Each           Henry Schein, Inc.         Midwest Medical Supply         Medsource         MS-4612         Each           Bound Tree Medical Supply         Medsource         MS-4612         Each </td <td>86</td> <td>Laryngoscope Blade, Miller; #1 Infar</td> <td>nt No substitutions</td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td>	86	Laryngoscope Blade, Miller; #1 Infar	nt No substitutions							
Bound Tree Medical         Curaplex         004851100         2145-13502         Each box           Henry Schein, Inc.         Nashville Med. & EMS         Each         Each           I Laryngoscope Blade, Miller; #2 Child         No substitutions         MS-46422         Each           I Laryngoscope Blade, Miller; #2 Child         Mosubstitutions         Each         Each           Moore Medical Supply         Medsource         MS-46422         Each           Moore Medical, I.I.C.         Curaplex         004852200         2145-13503         Each           Henry Schein, Inc.         Moore Medical, I.I.C.         MS-46423         Each         Each           Midwest Medical Supply         Medsource         MS-46423         Each         Each           Moore Medical, I.I.C.         MS-46423         Each         Each           Midwest Medical, I.I.C.         MS-4612         Each         Each           Midwest Medical Supply         Medsource         MS-4612         Each           Moore Medical Supply		Midwest Medical Supply	Medsource	MS-46421		Each	\$3.8100	1	\$3.81	1*
Henry Schein, Inc.         Moore Medical, LLC.         Moore Medical, LLC.         Each           I Laryngoscope Blade, Miller; #2 Child No substitutions         MNS-46422         Each           Bound Tree Medical Supply         Medsource         MS-46422         Each           Bound Tree Medical LLC.         Moore Medical, LLC.         Each         Each           Henry Schein, Inc.         Moore Medical, LLC.         Each         Each           Midwest Medical Supply         Medsource         MS-46423         Each           Midwest Medical Supply         Medsource         MS-46423         Each           Moore Medical, LLC.         Moore Medical, LLC.         Each         Each           Moore Medical, LLC.         Moore Medical, LLC.         Each         Each           Mashville Med. & EMS         Moore Medical, LLC.         Each         Each           Mashville Med. & EMS         Moore Medical, LLC.         Each         Each           Mashville Med. & EMS         Moore Medical, LLC.         MS-4612         Each           Midwest Medical Supply         Medsource         MS-4612         Each           Moore Medical, LLC.         Moore Medical, LLC.         Each         Each           Moore Medical Supply         Medsource         MS-4612 <t< td=""><td></td><td>Bound Tree Medical</td><td>Curaplex</td><td>004851100</td><td>2145-13502</td><td>Each box</td><td>\$4.0900</td><td>20</td><td>\$81.80</td><td>2</td></t<>		Bound Tree Medical	Curaplex	004851100	2145-13502	Each box	\$4.0900	20	\$81.80	2
Moore Medical, LLC.         Moore Medical, LLC.         Mosubstitutions         Modesoure         MAS-46422         Each           Bound Tree Medical Supply         Medsouree         MS-46422         2145-13503         Each           Moore Medical, LLC.         Curaplex         004852200         2145-13503         Each           Moore Medical, LLC.         Henry Schein, Inc.         Modesource         MS-46423         Each           Laryngoscope Blade, Miller; #3 Medium Adult No substitutions         Midwest Medical Supply         Medsource         MS-46423         Each           Moore Medical, LLC.         Laryngoscope Blade, Miller; #3 Medium Adult No substitutions         MS-46423         Each         Each           Moore Medical, LLC.         Laryngoscope Blade, Macintosh; #2 Child No substitutions         MS-4612         Each           Midwest Medical Supply         Medsource         MS-4612         Each           Midwest Medical Supply         Medsource         MS-4612         Each           Bound Tree Medical Supply         Medsource         MS-4612         Each           Bound Tree Medical Supply         Medsource         MS-4612         Each           Moore Medical, LLC.         Modesource         MS-4612         Each           Moore Medical, LLC.         Each         Each <td></td> <td>Henry Schein, Inc.</td> <td></td> <td></td> <td></td> <td></td> <td>No bid</td> <td></td> <td></td> <td></td>		Henry Schein, Inc.					No bid			
Laryngoscope Blade, Miller; #2 Child         No substitutions         MS-4642         Each           Midwest Medical Supply         Curapiex         004852200         2145-13503         Each           Bound Tree Medical, LLC.         Curapiex         004852200         2145-13503         Each           Moore Medical, LLC.         Each         Each         Each           Nashville Med. & EMS         MS-46423         Each         Each           Iaryngoscope Blade, Miller; #3 Medium Adult No substitutions         MS-46423         Each         Each           Midwest Medical Supply         Medsource         MS-46423         Each         Each           Moore Medical LLC.         Laryngoscope Blade, Macintosh; #2 Child No substitutions         MS-46423         Each           Nashville Med. & EMS         Medsource         MS-4612         Each           Iaryngoscope Blade, Macintosh; #2 Child No substitutions         Modsource         Each           Moore Medical Supply         Medsource         MS-4612         Each           Bound Tree Medical Supply         Curaplex         004802200         2145-13402         Each           Moore Medical, LLC.         Henry Schein, Inc.         Each         Each         Each		Moore Medical, LLC.					No bid			
Laryngoscope Blade, Miller; #2 Child No substitutions         MNS-46422         Each           Midwest Medical Supply         Medsource         004852200         2145-13503         Each           Bound Tree Medical, LLC.         Amore Medical, LLC.         Each         Each           Henry Schein, Inc.         Nashville Med. & EMS         MS-46423         Each           Laryngoscope Blade, Miller; #3 Medium Adult No substitutions         MS-46423         Each           Midwest Medical Supply         Medsource         MS-46423         Each           Henry Schein, Inc.         Henry Schein, Inc.         Each         Each           Nashville Med. & EMS         MS-4613         MS-4613         Each           Midwest Medical, LLC.         MS-4612         MS-4613         Each           Midwest Medical Supply         Medsource         MS-4612         Each           Midwest Medical Supply         Medsource         MS-4612         Each           Bound Tree Medical         Curaplex         004802200         2145-13402         Each           Moore Medical         LC.         Each         Each         Each           Henry Schein, Inc.         Each         Each         Each		Nashville Med. & EMS					No bid			
Midwest Medical Supply         Medsource         MS-46422         Each           Bound Tree Medical         Curaplex         004852200         2145-13503         Each           Moore Medical, LLC.         Henry Schein, Inc.         Machael Medical Supply         MS-46423         Each           Laryngoscope Blade, Miller; #3 Medium Adult No substitutions         MS-46423         Each         Each           Midwest Medical Supply         Medsource         MS-46423         Each         Each           Moore Medical, LLC.         Henry Schein, Inc.         Henry Schein, Inc.         Ms-46423         Each           Laryngoscope Blade, Macintosh; #2 Child No substitutions         MS-4612         Each         Each           Midwest Medical Supply         Medsource         MS-4612         Each           Bound Tree Medical Supply         Medsource         MS-4612         Each           Bound Tree Medical Supply         Moore Medical Supply         Medsource         Ms-4612         Each           Moore Medical, LLC.         Bound Tree Medical Supply         Laryngoscope Blade, Macinal Supply         Each         Each           Henry Schein, Inc.         Curaplex         O04802200         2145-13402         Each           Henry Schein, Inc.         Henry Schein, Inc.         Each	66	Laryngoscope Blade, Miller; #2 Child	d No substitutions			i				
Bound Tree Medical         Curaplex         004852200         2145-13503         Each           Moore Medical, LLC.         Henry Schein, Inc.         Each         Each           Nashville Med. & EMS         Medsource         MS-46423         Each           Midwest Medical Supply         Medsource         MS-46423         Each           Bound Tree Medical         Curaplex         004853300         2145-13504         Each           Moore Medical, LLC.         Henry Schein, Inc.         Henry Schein, Inc.         Mashville Med. & EMS         Each           Laryngoscope Blade, Macintosh; #2 Child No substitutions         Midwest Medical Supply         Medsource         MS-4612         Each           Moore Medical Supply         Medsource         MS-4612         Each         Each           Moore Medical, LLC.         Curaplex         004802200         2145-13402         Each           Moore Medical, LLC.         Henry Schein, Inc.         Each         Each           Henry Schein, Inc.         Curaplex         004802200         2145-13402         Each           Henry Schein, Inc.         Each         Each         Each         Each		Midwest Medical Supply	Medsource	MS-46422		Each	\$3.8100	1	\$3.81	1*
Moore Medical, LLC.         Henry Schein, Inc.         Mose Medical, LLC.         Each Moore Medical Supply         Medsource         MS-46423         Each Each Each Each Moore Medical Supply         Each Each Moore Medical Supply         MS-46423         Each Each Each Each Moore Medical LLC.         MS-46423         Each Each Each Each Each Each Each Each		Bound Tree Medical	Curaplex	004852200	2145-13503	Each	\$4.0900	20	\$81.80	2
Henry Schein, Inc.         Mashville Med. & EMS         Each           Laryngoscope Blade, Miller; #3 Medium Adult No substitutions         MS-46423         Each           Bound Tree Medical Supply         Medsource         MS-46423         Each           Moore Medical, LLC.         Curaplex         004853300         2145-13504         Each           Henry Schein, Inc.         Henry Schein, Inc.         Ambigoscope Blade, Macintosh; #2 Child No substitutions         MS-4612         Each           Laryngoscope Blade, Macintosh; #2 Child No substitutions         MS-4612         Each           Bound Tree Medical Supply         Medsource         MS-4612         Each           Moore Medical, LLC.         Curaplex         004802200         2145-13402         Each           Moore Medical, LLC.         Henry Schein, Inc.         Each         Each		Moore Medical, LLC.					No bid			
Nashville Med. & EMS         Mack EMS         Each           Laryngoscope Blade, Miller; #3 Medium Adult No substitutions         MS-46423         Each           Midwest Medical Supply         Curaplex         004853300         2145-13504         Each           Moore Medical, LLC.         Henry Schein, Inc.         Each         Each           Nashville Med. & EMS         Assolute Medical Supply         MS-4612         Each           Midwest Medical Supply         Medsource         MS-4612         Each           Moore Medical Supply         Curaplex         004802200         2145-13402         Each           Moore Medical LLC.         Henry Schein, Inc.         Each         Each		Henry Schein, Inc.					No bid			
Laryngoscope Blade, Miller; #3 Medium Adult No substitutions         Midwest Medical Supply         Medsource         MS-46423         Each           Bound Tree Medical Supply         Curaplex         004853300         2145-13504         Each           Moore Medical, LLC.         Henry Schein, Inc.         Each         Each           Nashville Med. & EMS         As EMS         Each           Laryngoscope Blade, Macintosh; #2 Child No substitutions         MS-4612         Each           Midwest Medical Supply         Medsource         MS-4612         Each           Bound Tree Medical         Curaplex         004802200         2145-13402         Each           Moore Medical, LLC.         Henry Schein, inc.         Each         Each		Nashville Med. & EMS					No bid			
Midwest Medical Supply         Medsource         MS-46423         Each           Bound Tree Medical         curaplex         004853300         2145-13504         Each           Moore Medical, LLC.         Henry Schein, Inc.         Anashville Med. & EMS         Each           Laryngoscope Blade, Macintosh; #2 Child No substitutions         MS-4612         Each           Midwest Medical Supply         Medsource         MS-4612         Each           Bound Tree Medical         curaplex         004802200         2145-13402         Each           Moore Medical, LLC.         Henry Schein, Inc.         Henry Schein, Inc.         Each	100	Laryngoscope Blade, Miller; #3 Med	S N	utions						
Bound Tree Medical         curaplex         004853300         2145-13504         Each           Moore Medical, LLC.         Henry Schein, Inc.         According to the control of the contr		Midwest Medical Supply	Medsource	MS-46423		Each	\$3.8100	1	\$3.81	1*
Moore Medical, LLC.         Henry Schein, Inc.         Caraplex         Child No substitutions         MS-4612         Each           Midwest Medical Supply         Medsource         MS-4612         Each           Moore Medical Curaplex         Curaplex         004802200         2145-13402         Each           Moore Medical, LLC.         Henry Schein, Inc.         Henry Schein, Inc.         Anschain, Inc.         Anschain, Inc.		Bound Tree Medical	Curaplex	004853300	2145-13504	Each	\$4.0900	20	\$81.80	2
Henry Schein, Inc.  Nashville Med. & EMS  Laryngoscope Blade, Macintosh; #2 Child No substitutions  Midwest Medical Supply  Bound Tree Medical  Moore Medical, LLC.  Henry Schein, Inc.		Moore Medical, LLC.					No bid			
Laryngoscope Blade, Macintosh; #2 Child No substitutions Midwest Medical Supply Medsource Moscope Blade Medical Curaplex Moore Medical LLC. Henry Schein, Inc.		Henry Schein, Inc.					No bid			
Laryngoscope Blade, Macintosh; #2 Child No substitutions  Midwest Medical Supply Medsource MS-4612  Bound Tree Medical Curaplex 004802200 2145-13402 Each  Moore Medical, LLC.  Henry Schein, Inc.		Nashville Med. & EMS					No bid			
pply         Medsource         MS-4612         Each           Curaplex         004802200         2145-13402         Each	101	Laryngoscope Blade, Macintosh; #2	Child No substitution	SI				İ		
Curaplex 004802200 2145-13402 Each		Midwest Medical Supply	Medsource	MS-4612			\$3.8100	1	\$3.81	1*
		Bound Tree Medical	Curaplex	004802200	2145-13402	Each	\$4.0900	20	\$81.80	2
		Moore Medical, LLC.					No bid			
		Henry Schein, Inc.					No bid			

	DESCRIPTION	BRAND	MFG ITEM #	Vendor#	UNIT / BASE FOR AWARD	PRICE PER UNIT	CASE	PRICE PER CASE	RANK
	Nashville Med. & EMS					No bid			
102	Laryngoscope Blade, Macintosh; #3 Medium Adult		No substitutions						
	Midwest Medical Supply	Medsource	MS-46413			\$3.8100	1	\$76.20	1*
	Bound Tree Medical	Curaplex	004803300	2145-13403	Each	\$4.0900	20	\$81.80	2
	Moore Medical, LLC.					No bid			
	Henry Schein, Inc.					No bid			
	Nashville Med. & EMS					No bid			
103	Laryngoscope Blade, Macintosh; #4 Large Adult		No substitutions						
	Midwest Medical Supply	Medsource	MS-46414		Each	\$3.8100	1	\$3.81	1*
	Bound Tree Medical	Curaplex	004804400	2145-13404	Each	\$4.0900	20	\$81.80	2
	Moore Medical, LLC.					no bid			
	Henry Schein, Inc.					No bid			
	Nashville Med. & EMS					No bid			
104	Surgilube Lubricant; Foilpac; 5 g N	No substitutions							
	Bound Tree Medical	Owens & Minor	0281-0205-45	1340-67507	Each	\$0.1000	150	\$15.00	н
	Henry Schein, Inc.	Owens & Minor	0281-0205-46	1340-67508	Each	\$0.1800	144	\$25.92	2
	Midwest Medical Supply					No bid			
	Moore Medical, LLC.					No bid			
	Nashville Med. & EMS					No bid			
105	Esophageal Intubation Detector Bulb Model, Tube Chek-B	lb Model, Tube Chek-B	No substitutions	s					
	Bound Tree Medical	AMBU	000172002	065-000172002EA	Each	\$1.8700	20	\$37.40	1
	Henry Schein, Inc.	AMBU	000172003	065-000172002EA	Each	\$2.0000	20	\$40.00	2
	Supply	AMBU	000172004	065-000172002EA	Each	\$2.1140	20	\$42.28	3
	Moore Medical, LLC.	AMBU	000172005	065-000172002EA	Each	\$2.5700	20	\$51.40	4
	Nashville Med. & EMS					No bid			
106	Full Kit Nebulizer Set w / Mouthpiece, Tee Adapter, Reservoir, 7'	ce, Tee Adapter, Resen	voir; 7' No substitutions	utions					
	Bound Tree Medical	Curaplex	8900	301-200EA	Each	\$0.5400	50	\$27.00	1
	Henry Schein, Inc.	Curaplex	8901	301-200EA	Each	\$0.5900	20	\$29.50	2
	Midwest Medical Supply	Curaplex	8902	301-200EA	each	\$0.9692	50	\$48.46	3
	Moore Medical, LLC.		8900		Each	\$0.9900	50	\$49.50	4
	Nashville Med. & EMS					No bid			
107	LSP Ventilation Circuit Valve, Disp, w/valve, Exhalation Filter, Adult Cuffed Mask, Swivel Connector FOR AUTOVENT 3999 No substitutions	w/valve, Exhalation Filt	ter, Adult Cuffed M	ask, Swivel Connector F	OR AUTOVENT	3999 No substil	tutions		
	Henry Schein, Inc.	Allied	21-L599-130EA	21-L599-130EA	Each	\$6.6900	10	\$66.90	1
		-							

	DESCRIPTION	BRAND	MFG ITEM #	Vendor#	UNIT / BASE FOR AWARD	PRICE PER UNIT	CASE	PRICE PER CASE	RANK
	Bound Tree Medical	Alfied	21-L599-130EA	21-L599-130EA	Each	\$7.4000	10	\$74.00	2
	Midwest Medical Supply	Alfied	21-L599-130EA	21-L599-130EA	Each	\$7.4720	10	\$74.72	3
	Moore Medical, LLC.	Allied	21-LS99-130EA	21-L599-130EA	Each	\$7.4880	10	\$74.88	4
	Nashville Med. & EMS					No bid			
108	Thomas Endotrachael Tube Holder, Adult No substitutions	Adult No substitution	SU						
	Henry Schein, Inc.	Laerdal	8666-009	20498	Each	\$2.5900	25	\$64.75	1
	Moore Medical, LLC.	Laerdal	6666-009	20499	Each	\$2.6300	100	\$263.00	2
	Bound Tree Medical	Laerdai	600-10000	20500	Each	\$2.6500	1	\$2.65	3
	Midwest Medical Supply	Laerdal	600-10001	20501	Each	\$2,6800	25	\$67.00	4
	Nashville Med. & EMS	Laerdal	600-10002	20502	Each	\$2.8900	25	\$72.25	5
109	Thomas Endotrachael Tube Holder, Child No substitutions	Child No substitutions	S						
	Henry Schein, Inc.	Laerdal	600-19998	20398	Each	\$2.5900	25	\$64,75	1
	Moore Medical, LLC.	Laerdal	600-19999	20399	Each	\$2.6300	100	\$263.00	2
	Bound Tree Medical	Laerdal	600-20000	20400	Each	\$2.6500	1	\$2.65	3
	Midwest Medical Supply	Laerdal	600-20001	20401	Each	\$2.6800	25	\$67.00	4
	Nashville Med. & EMS	Laerdal	600-20002	20402	Each	\$2.8900	25	\$72.25	5
110	Combitube Roll-up Kit 37fr. No	No substitutions	_						
	Henry Schein, Inc.	Covidien	5-18434	218434	Each	\$39,6500	4	\$158.60	1
	Midwest Medical Supply	Covidien	5-18435	218435	Each	\$40,0500	4	\$160.20	2
	Moore Medical, LLC.	Covidien	5-18436	218436	Each	\$42.0600	4	\$168.24	3
	Bound Tree Medical	Covidien	5-18437	218437	each	\$43,9800	4	\$175.92	4
	Nashville Med. & EMS					No bid			
111	Combitube Roll-up Kit 41fr. No substitutions	ubstitutions							
	Henry Schein, Inc.	Covidien	5-18438	218438	Each	\$39.6500	4	\$158.60	1
	Midwest Medical Supply	Covidien	5-18439	218439	Each	\$40.0500	4	\$160.20	2
	Moore Medical, LLC.	Covidien	5-18440	218440	Each	\$40.5000	4	\$162.00	3
	Bound Tree Medical	Covidien	5-18441	218441	Each	\$43.9800	4	\$175.92	4
	Nashville Med. & EMS					No bid			
112	Coude Tip, Pediatric 10Fr x 70cm; 10 Fr x 70 cm		No substitutions						
	Midwest Medical Supply	Sun Med	2120-17010	2120-17010	Each	\$3.6300	10	\$36.30	1
	Bound Tree Medical	Sun Med	2120-17010	2120-17010	Each	\$4.1700	10	\$41.70	2
	Henry Schein, Inc.	Sun Med	2120-17010	2120 17010	Each	\$4.8700	10	\$48.70	m
	Moore Medical, LLC.					No bid			

						AWARD			
	DESCRIPTION	BRAND	MFG ITEM #	Vendor#	UNIT / BASE FOR AWARD	PRICE PER UNIT	CASE	PRICE PER CASE	RANK
	Nachville Med & FMC					No bid			
113	Coude Tip, Adult 15Fr x 70cm; 15 Fr x 70 cm No substitutions	r x 70 cm. No substitut	ions						
	Midwest Medical Supply	Sun Med	9-0212-69	9-01212-69		\$3.6300	10	\$36.30	₽
	Bound Tree Medical	Sun Med	9-0212-70	9-01212-70	Each	\$4.2000	10	\$42.00	2
	Henry Schein, Inc.	Sun Med	9-0212-71	9-01212-71	Each	\$4.8700	10	\$48.70	3
	Moore Medical, LLC.					No bid			
	Nashville Med. & EMS					No bid			
114	30 ml Syringe No substitutions					:			
	Moore Medical, LLC.	B.D.	302830	1633-83228	Each box	\$17.4200	4	\$9.69\$	1
	Midwest Medical Supply	B.D.	302831	1633-83229	Each box	\$17.7500	56	\$17.75	2
	Bound Tree Medical	B.D.	302832	1633-83230	Each box	\$18.7500	56	\$18.75	ж
	Henry Schein, Inc.	B.D.	302833	1633-83231	Each box	\$58.0000	100	\$58.00	4
	Nashville Med. & EMS					No bid			
115	10 ml Syringe Luer-lock Tip No su	No substitutions							
	Henry Schein, Inc.	B.D.	309604	629604	pox	\$10.2800	100	\$10.28	н
	Midwest Medical Supply	8.D.	309604	629604	pox	\$10.3900	200	\$20.77	2
	Bound Tree Medical	8.D.	309604	629604	pox	\$11.4100	400/cs	\$45.64	m
	Moore Medical, LLC.	8.D.	309604	629604	box	\$21.0000	2	\$42.00	4
	Nashville Med. & EMS					No bid			
116	1cc u-100 Insulin Syrenge No su	No substitutions						:	
	Henry Schein, Inc.	Covidien	329424	661083	pox	\$0.2624	100	\$26.24	1
	Midwest Medical Supply	Covidien	329424	661083	pox	\$0.2710	100	\$27.10	2
	Bound Tree Medical	Covidien	329424	661083	box	\$0.5400	240	\$129.60	3
	Nashville Med. & EMS					No bid			
	Moore Medical, LLC.					No bid			
117	1 ml Syringe No substitutions								
	Bound Tree Medical	B,Braun	309602	1633-40601	ea	\$0.0600	1800/cs	\$108.00	1
	Henry Schein, Inc.	B,Braun	309603	1633-40602	ea	\$0.1091	100	\$10.91	2
	Moore Medical, LLC.	B.Braun	309604	1633-40603	ea/ box 200	\$0.1102	8	\$176.32	33
	Midwest Medical Supply	B.Braun	309605	1633-40604	box	\$0.1130	200	\$22.60	4
	Nashville Med. & EMS					No bid			
118	3 ml Syringe Luer-Lok Tip No sub	No substitutions							
	Henry Schein, Inc.	B.D.	309654	132-309585EA	Each	\$0.0639	100	\$6.32	1
	Moore Medical, LLC.	B.D.	309655	132-309585EA	box 200	\$0.0639	4	\$0.26	1

Michael Medical Supply   Record										
Michaest Nedicial Supply   B.D.   309555   132-3055855A   Each   50,0700   50,005   513.06     Nach-acital Nedicial Supply   B.D.   3199557   132-3055855A   Each   10 bid		DESCRIPTION	BRAND	MFG ITEM #	Vendor #	UNIT / BASE FOR AWARD	PRICE PER UNIT	CASE	PRICE PER CASE	RANK
Bound Tree Medical Supply         Earth Consider         B.D.         309657         132-309585EA         Earth S0,0700         800/ISS         \$56.00           A Sabural Rend, & EMS         Nasowalite Medical Supply         Consider         8888258808         14736MS         Earth S1,0090         100         \$62.90           A J Milworst Medical Supply         Consider         8888258086         KRNB888268086         Earth S1,0090         100         \$62.90           Henry Schelin Inc.         Consider         8888258086         GS66022         Earth S1,0090         10         \$62.90           Henry Schelin Inc.         Consider         8888258086         GS66022         Earth S1,0090         10         \$62.90           Hondoor Medical Supply         Consider         88882564929         KRNB888264929         Earth S1,0090         10         \$616.00           Hondoor Medical LLC         Modeon Medical LLC         Medical LLC         Medical LLC         Medical LLC         \$616.00         \$616.00           Hondoor Medical LLC         Modeon Medical LLC         Medical LLC         Medical LLC         \$616.00         \$616.00         \$616.00           Hondoor Medical LLC         Modeon Medical LLC         Medical LLC         Medical LLC         \$616.00         \$618.00         \$616.00     <		Midwest Medical Supply	B.D.	309656	132-309585EA	Each	\$0.0653	200	\$13.06	2
Nasopastric of Gastric sump tube; 48 EMS		Bound Tree Medical	B.D.	309657	132-309585EA	Each	\$0.0700	800/CS	\$56.00	3
Name gestric or Gastric sump tube; 42 inch L, 8 French,         ME2208         14756MS         Each         \$2,2000         280         \$61600           27 mm Coll         Bound Tree Medical Supply         Considen         8882268056         14756MS         Each         \$5,00900         100         \$56,00           Minutest Medical Supply         Considen         8888268056         6366022         Each         \$5,00900         100         \$56,00           Minutest Medical Supply         Considen         888826805         6366022         Each         \$1,8100         \$50.00           Minutest Medical Supply         Considen         888826805         14778MS         Each         \$2,2000         280         \$516.00           Minutest Medical Supply         Considen         888826493         KENB88256492         Each         \$2,2000         280         \$516.00           Monore Medical LLC         Medonaton         1217.12         Each         \$2,2000         280         \$516.00           Monore Medical LLC         Medonaton         1217.14         A1758MS         Each         \$2,2000         \$50         \$51.850           Monore Medical LLC         Monore Medical LLC         Medonaton         1217.14         Each         \$2,2000         \$50         \$5		Nashville Med. & EMS					No bid			
2.7 mm Ob         Bound Tree Medical Supply         Consider         B888258986         LTA756MS         Each         \$2,2000         20         \$510,590           Milowest Medical Supply         Convider         B888258986         CR56022         Each         \$510,090         10         \$510,090           Milowest Medical Supply         Convider         B888258986         G366022         Each         \$510,090         10         \$510,090           Milowest Medical LLC.         More Medical LLC.         More Medical LLC.         More Medical LLC.         No bid         No bid         No bid         \$50,50           Mollower Medical LLC.         More Medical LLC.         Resh         \$2,2000         280         \$51,60           Mollower Medical LLC.         Medovations         1,217,12         Each         \$2,2000         280         \$51,60           Milower Medical LLC.         Medovations         1,217,12         Each         \$2,2000         280         \$51,60           Milower Medical LLC.         Medovations         1,217,14         Each         \$2,2000         280         \$51,60           Milower Medical LLC.         Medovations         1,217,14         Each<		Naso-gastric or Gastric sump tube;	42 inch L, 8 French,							
Motore Medical Stappy         Concident         8828264906         CEACH         55,200         28.0         56,600           Motore Medical Linc         Motore Medical Linc         Motore Medical Linc         Motore Medical Linc         No bid         510,090         10         562,00           Motore Medical Linc         Motore Medical Linc         Motore Medical Linc         Motore Medical Linc         No bid         510,090         10         562,00           Motore Medical Linc         Motore Medical Linc         Motore Medical Linc         Motore Medical Supply         Keviden         8888264929         KENBSSS Each         51,800         50,50         50,50           Motore Medical Supply         Coviden         8828264929         KENBSSSS Each         52,200         20         50,50         50,50           Motore Medical Linc         Medovation         1217.12         47,58MS         Each         52,200         20         5118.50           Motore Medical Linc         Medovation         1217.12         47,78MS         Each         52,200         20         5118.50           Motore Medical Linc         Medovation         1217.14         KENSBSS54945         Each         52,200         20         5118.50           Motore Medical Linc         Medovation <t< td=""><td>119</td><td>2.7 mm OD</td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></t<>	119	2.7 mm OD								
Mildwest Medical Supply   Conden   8888260806   6366022   Each   510,0900   10   510,090		Bound Tree Medical	Curaplex	ME2208	14756MS	Each	\$2.2000	280	\$616.00	1
Herny Schein, Inc.  Nach Midwest Medical Supply  Nacy gastric or Gastric sump tube, 48 inch L, 15 French, Annoor Midwest Medical Supply  Nacy gastric or Gastric sump tube, 48 inch L, 14 French, Annoor Midwest Medical Supply  Nacy gastric or Gastric sump tube, 48 inch L, 14 French, Annoor Midwest Medical Supply  Nacy gastric or Gastric sump tube, 48 inch L, 14 French, Annoor Midwest Medical Supply  Nacy gastric or Gastric sump tube, 48 inch L, 14 French, Annoor Midwest Medical Supply  Nacy gastric or Gastric sump tube, 48 inch L, 14 French, Sam mo to Moore Medical, ILC. Nacy gastric or Gastric sump tube, 48 inch L, 14 French, Sam mo to Moore Medical, ILC. Nacy gastric or Gastric sump tube, 48 inch L, 15 French, Sam mo to Moore Medical, ILC. Nacy gastric or Gastric sump tube, 48 inch L, 15 French, Sam mo to Moore Medical, ILC. Nacy gastric or Gastric sump tube, 48 inch L, 15 French, Sam mo to Moore Medical, ILC. Nacy gastric or Gastric sump tube, 48 inch L, 15 French, Sam mo to Moore Medical, ILC. Nacy gastric or Gastric sump tube, 48 inch L, 15 French, Sam mo to Moore Medical, ILC. Nacy gastric or Gastric sump tube, 48 inch L, 15 French, Sam mo to Moore Medical, ILC. Nacy gastric or Gastric sump tube, 48 inch L, 15 French, Sam mo to Moore Medical, ILC. Nacy mid Med & EMS  Nacy gastric or Gastric sump tube, 48 inch L, 15 French, Sam mo to Moore Medical, ILC. Nacy gastric or Gastric sump tube, 48 inch L, 15 French, Sam mo to Moore Medical, ILC. Nacy gastric or Gastric sump tube, 48 inch L, 15 French, Sam mo to Moore Medical, ILC. Nacy gastric or Gastric sump tube, 48 inch L, 15 French, Sam mo to Moore Medical, ILC. Nacy gastric or Gastric or Gastric sump tube, 48 inch L, 15 French, Sam mo to Moore Medical, ILC. Nacy Mo		Midwest Medical Supply	Covidien	888268086	KEN8888268086		\$6.2900	10	\$62.90	2
Moore Medical, ILC.         Mount of Medical (EMMS)         Mobid         Mobid           About Masor Exercising tubbe; All rich Lit French.         4.0 mm do.         Modwest Medical Supply         Covidien         8888264929         Each         \$1.8100         \$0         \$50.50           A Domm do Midwest Medical Supply         Covidien         8888264929         KERNB88264929         Each         \$1.2000         280         \$516.00           Modwest Medical LLC.         Medovations         1217.12         Leach         \$2.2000         280         \$516.00           Modore Medical LLC.         Medovations         1217.12         Each         \$2.2000         50         \$114.50           Nashville Med. & EMS         Monore Medical LLC.         Medovations         1217.14         Each         \$2.2000         \$0         \$518.50           Nashville Med. & EMS         Monore Medical LLC.         Medovations         1217.14         Each         \$2.2000         \$0         \$518.50           Nashville Med. & EMS         Moore Medical LLC.         Medovations         1217.14         Each         \$2.2000         \$0         \$518.50           Nashville Med. & EMS         Moore Medical LLC.         Medovations         1217.14         Each         \$2.2000         \$0         \$518.50		Henry Schein, Inc.	Covidien	9808978888	2209989	Each	\$10.0900	10	\$100.90	3
Mashwille Med. & EMS         An action of Septic Sump tube. 8 inch t, 12 French.         RENBBR264929         Each Static Sump tube.         S88254929         KENBBR264929         Each Static Sump tube.         S90.50           Midwest Medical Supply         Convolen         8888264929         KENBBR264929         Each Station         \$22,2000         500         \$5126.50           Herny Schein Inc.         Medovations         1217.12         47,720         Each Station         \$22,5000         500         \$1128.50           Moore Medical, LLC         Medovations         1217.12         Each Station         \$22,5000         500         \$1128.50           Mashville Med. & EMS         A.7 mm O.0         Moore Medical LLC         Medovations         ME2214-5         L4759         Each Station         \$2,2500         500         \$1128.50           Mashville Med. & EMS         Midwest Medical Supply         Covalence         ME2214-5         L4759         Each Station         \$2,2500         50         \$118.50           Moore Medical LLC         Medovations         L127.14         Each Station         \$2,2500         50         \$118.50           Moore Medical LLC         Medovations         L127.14         Each Station         \$2,2500         50         \$118.50           Moore Medical LLC		Moore Medical, LLC.					No bid			
Nazo-gastric or Gastric sump tube, 48 inch L, 12 French, Bebund Tree Medical Supply         Coviden         8888264929         KEN888264929         Each S1.8100         50         590.50           Molovest Medical Supply         Coviden         ME2212.s         14758MS         Each S2.2000         280         5516.00           Bound Tree Medical Supply         Coviden         1217.12         Each S2.2000         50         5114.50           Noore Medical LLC         Medovation tube, 48 inch L, 14 French, 4.7 mm 0.0         Medovation tube, 48 inch L, 14 French, 4.7 mm 0.0         Medovation tube, 48 inch L, 14 French, 4.7 mm 0.0         Each S2.2000         50         5118.50           Midwest Medical Supply         Conglet         ME2214.5         14759         Each S2.2000         50         5118.50           Midwest Medical Supply         Conglet         ME2214.5         14759         Each S2.2000         50         5118.50           Midwest Medical Supply         Conglet         ME2214.5         14759         Each S2.2000         50         5118.50           Moore Medical, ILC.         Medovations         1217.14         Each S2.2000         50         5118.50           Moore Medical, ILC.         Medovations         1217.14         Each S2.2000         50         5118.50           Moore Medical, ILC. <td></td> <td>Nashville Med. &amp; EMS</td> <td></td> <td></td> <td></td> <td></td> <td>No bid</td> <td></td> <td></td> <td></td>		Nashville Med. & EMS					No bid			
Authorise   Medical Supply   Coviden   8888264929   KEN8888264929   Each   \$1.8100   50   590.50     Bound Tree Medical Supply   Coviden   ME2212.5   14758MS   Each   \$1.2100   20   5616.00     Bound Tree Medical Supply   Coviden   ME2212.5   14758MS   Each   \$2.2000   20   5114.50     Maso-gastric or Gastric sump tube, 48 inch t, 14 French,   Moore Medical, I.L.   Medovations   1217-14   Each   \$2.2000   50   \$114.50     Maso-gastric or Gastric sump tube, 48 inch t, 14 French,   Me2214.5   14759   Each   \$2.2000   50   \$10.50     Manore Medical, I.L.   Medovations   Me2214.5   14759   Each   \$2.2000   50   \$114.50     Manore Medical, I.L.   Medovations   Me2214.5   14759   Each   \$2.2000   50   \$118.50     Maso-gastric or Gastric sump tube, 48 inch t, 16 French,   Me2214.5   Each   \$2.2000   50   \$118.50     Matowest Medical Supply   Coviden   Me2214.5   Each   \$2.2000   50   \$118.50     Matowest Medical Supply   Coviden   Me2214.5   Each   \$2.2000   50   \$118.50     Midowest Medical Supply   Coviden   Me2214.5   I4751   Each   \$2.2000   50   \$118.50     Midowest Medical, I.L.   Medovations   Me2214.5   I4751   Each   \$2.2000   50   \$128.50     Moore Medical, I.L.   Medovations   Me2214.5   I4751   Each   \$2.2000   50   \$128.50     Moore Medical, I.L.   Medovations   Me2214.5   I4751   Each   \$2.2000   50   \$128.50     Moore Medical, I.L.   Medovations   I217-16   Each   \$2.2000   50   \$128.50     Moore Medical, I.L.   Medovations   I217-16   Each   \$2.2000   50   \$128.50     Moore Medical, I.L.   Medovations   I217-16   Each   \$2.2000   50   \$128.50     Moore Medical, I.L.   Medovations   I217-16   Each   \$2.2000   50   \$128.50     Moore Medical, I.L.   Medovations   I217-16   Each   \$2.2000   50   \$128.50     Moore Medical, I.L.   Medovations   I217-16   Each   \$0.2000   50   \$128.50     Moore Medical, I.L.   Medovations   I217-16   Each   \$0.2000   50   \$128.50     Moore Medical, I.L.   Medovations   I217-16   Each   \$0.2000   50   \$128.50     Moore Medical, I.L.   Medovations   I217-16   Each   \$0.2000		Naso-gastric or Gastric sump tube;	48 inch L, 12 French,							
Modwest Medical Supply         Convolen         8888264929         KFNB888264939         Each         \$1,8100         \$0         \$90.50           Henry Schein, Inc.         Henry Schein, Inc.         Medovations         1217-12         Each         \$2,2000         \$0         \$118,50           Hanny Schein, Inc.         Moore Medical, LLC.         Medovations         1217-12         Each         \$2,2000         \$0         \$118,50           Nashville Med. & EMS         REMS         REMS         KRN888264945         KRN888264945         Each         \$2,2000         \$0         \$128,50           Nashville Med. & EMS         Midwest Medical Supply         Coviden         8888264945         KRN888264945         Each         \$2,2000         \$0         \$128,50           Henry Schein, Inc.         Diversarek         1217-14         A759         Each         \$2,2000         \$0         \$516,60           Nashville Med. & EMS         Moore Medical, LLC.         Medovations         1217-14         Each         \$2,2000         \$0         \$518,50           No bid         Moore Medical, LLC.         Medovations         1217-14         Each         \$2,2000         \$0         \$518,50           Nashville Med. & EMS         Cartillor         Medovations         1217-1	170	4.U mm UD								
Bound Tree Medical         Curapter         ME2212 s         14758MS         Each         \$22,000         280         \$616.00           Henry Schein, Inc.         Medovators         1217-12         Each         \$22,000         50         \$114,50           Nashville Med. & EMS         Moore Medical, LLC.         Medovators         1117-12         Each         \$22,000         50         \$114,50           A.7 mm OD         Midwest Medical Supply         Cowdien         ME2214-S         14759         Each         \$22,000         50         \$90.50           Bound Tree Medical Supply         Cowdien         ME2214-S         14759         Each         \$22,000         50         \$114,50           Henry Schein, Inc.         Diversatek         1217-14         Each         \$22,000         50         \$114,50           A sakwille Med. & EMS         Moore Medical, LLC.         Medovators         1217-14         Each         \$22,000         50         \$114,50           A sakwille Med. & EMS         Moore Medical, LLC.         Medovators         1217-14         Each         \$22,2000         50         \$114,50           A sakwille Med. & EMS         Beaund Tree Medical Supply         Cowdien         8888264960         KEN888264960         Each         \$22,2000 <td></td> <td>Midwest Medical Supply</td> <td>Covidien</td> <td>8888264929</td> <td>KEN8888264929</td> <td>Each</td> <td>\$1.8100</td> <td>20</td> <td>\$90.50</td> <td>1</td>		Midwest Medical Supply	Covidien	8888264929	KEN8888264929	Each	\$1.8100	20	\$90.50	1
Henry Schein, Inc.         Medovations         1217.12         Each         \$2.2900         50         \$114.50           Moore Medical, ILC.         Medovations         1217.12         Each         \$2.5700         50         \$128.50           A 7 mm OD         Anidwest Medical Supply         Cowden         888264945         KEN8888264945         Each         \$1.8100         50         \$90.50           Bound Tree Medical Supply         Covden         ME2214-5         14759         Each         \$2.2000         280         \$616.00           Horry Schein, Inc.         Diversatek         1217-14         14759         Each         \$2.2000         50         \$114.50           Nashville Med. & EMS         Moore Medical, ILC.         Medovations         1217-14         Each         \$2.2000         50         \$128.50           A Sham OD         Nashville Med. & EMS         Medovations         1217-16         Each         \$2.2000         50         \$50.50           A Moore Medical, LLC.         Medovations         1217-16         Each         \$2.2000         50         \$518.50           A Moore Medical, LLC.         Medovations         1217-16         Each         \$2.2000         50         \$518.50           A Moore Medical, LLC.		Bound Tree Medical	Curaplex	ME2212-s	14758MS	Each	\$2.2000	280	\$616.00	2
Moore Medical, LLC.         Medovations         1217-12         Each         \$2.5700         50         \$128.50           Nashville Med, & EMS         A.7 mm ob         A.7 mm ob         Mobid         Fach         \$2.2700         50         \$128.50           A.7 mm ob         A.7 mm ob         Midwest Medical Supply         Coviden         8888264945         KEN888264945         Each         \$2.2000         50         \$90.50           Bound Tree Medical Supply         Covalen         ME2214-5         14759         Each         \$2.2000         50         \$114.50           Moore Medical, LLC.         Investate Medical LLC.         Investate LLC.		Henry Schein, Inc.		1217-12		Each	\$2.2900	50	\$114.50	3
Nasyhille Med. & EMS         Red S. EMS         No bid         No bid         No bid           4.7 mm OD         Midwest Medical Supply         coviden         8888264945         KEN8888264945         Each         \$1.8100         50         \$90.50           Bound Tree Medical Supply         coviden         ME2214-S         14759         Each         \$2.2000         280         \$516.00           Henry Schein, Inc.         Diversatek         1217-14         Each         \$2.2900         50         \$118.50           Nashville Med. & EMS         Inc.         Medovations         1217-14         Each         \$2.2900         50         \$516.00           Nashville Med. & EMS         Inc.         Medovations         1217-14         Each         \$2.2900         50         \$118.50           Nashville Med. & EMS         Inc.         Medovations         1217-14         Each         \$2.2900         \$0         \$118.50           Nashville Med. & EMS         Compound Tinture of Benzoin         Medovations         1217-16         Each         \$2.2000         \$20         \$512.85.0           Nashville Med. & EMS         Ems. Seeds Each in Inc.         Medovations         1217-16         Each         \$2.2000         \$20         \$512.85.0           Nas		Moore Medical, LLC.	Medovations	1217-12		Each	\$2.5700	20	\$128.50	4
Naso-gastric or Gastric sump tube: 48 inch L, 14 French, A T mm OD         KEN888264945         KEN888264945         KEN888264945         Each         \$1.8100         50         \$90.50           Midwest Medical Supply         Covalien         ME2214-S         14759         Each         \$2.2000         280         \$616.00           Henry Schein, Inc.         Diversarek         1217-14         Each         \$2.2000         50         \$114.50           Nashville Med. & EMIS         Ann OD         Midwest Medical Supply         Covalien         8888264960         KEN888264960         Each         \$2.2000         50         \$114.50           S.3 mm OD         Midwest Medical Supply         Covalien         8888264960         KEN888264960         Each         \$2.2000         50         \$114.50           Bound Tree Medical Supply         Covalien         ME2216-s         117.16         Each         \$2.2000         50         \$114.50           Bound Tree Medical Supply         Covalien         ME2216-s         117.16         Each         \$2.2000         50         \$114.50           Moore Medical Linture of Benzoinh         U.S.P., 10% Swabstick (11s)         Medovations         1177-16         Each         \$2.2000         50         \$114.50           Moore Medical, LLC.		Nashville Med. & EMS					No bid			
Midwest Medical Supply         Coviden         8888264945         KEN888264945         Each         \$1.8100         50         \$90.50           Bound Tree Medical Supply         Corraplex         1217-14         14759         Each         \$2.2000         280         \$616.00           Moore Medical, LLC.         Medovations         1217-14         Each         \$2.2000         50         \$114.50           Nashville Med, & EMS         Moore Medical, LLC.         Medovations         1217-14         Each         \$2.2000         \$0         \$128.50           Nashville Med, & EMS         Moore Medical Supply         Coviden         ME2216-s         14761         Each         \$2.2000         \$0         \$114.50           Bound Tree Medical LLC.         Medovations         1217-16         Each         \$2.2000         280         \$616.00           Moore Medical, LLC.         Medovations         1217-16         Each         \$2.2000         280         \$616.00           Nashville Med, & EMS         Moore Medical, LLC.         Medovations         1217-16         Each         \$2.2000         50         \$118.50           Ompound Tinture of Benzoin         LS.P., 10% Swabstick (1's)         Medovations         1217-16         Each         \$0.0440         \$0 <t< td=""><td>121</td><td>Naso-gastric or Gastric sump tube;</td><td>48 inch L, 14 French,</td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></t<>	121	Naso-gastric or Gastric sump tube;	48 inch L, 14 French,							
Midwest Medical Supply         Cowiden         8888264945         KEN8888264945         Each         \$1.8100         50         \$90.50           Bound Tree Medical         Curaplex         ME2214.5         14759         Each         \$2.2000         280         \$616.00           Moore Medical, LLC.         Medovations         1217-14         Each         \$2.2000         50         \$114.50           Nashville Med. & EMS         Inc.         Moore Medical, LLC.         Medovations         1217-14         Each         \$2.2000         50         \$128.50           Nashville Med. & EMS         Emstance Medical Supply         Curaplex         MEZ216-s         14761         Each         \$2.2000         50         \$90.50           Moore Medical, LLC.         Medovations         1217-16         Each         \$2.2000         50         \$114.50           Moore Medical, LLC.         Medovations         1217-16         Each         \$2.2000         50         \$128.50           Ompound Tinture of Benzoin         Intures Alexander         1217-16         Each         \$2.2000         50         \$128.50           Moore Medical, LLC.         Medovations         1217-16         Each         \$2.2000         50         \$128.50           Moshid	177									
Bound Tree Medical         Curaplex         ME2214-5         14759         Each         \$2.2000         \$616.00           Henry Schein, Inc.         Medovations         1217-14         Each         \$2.2900         50         \$114.50           Nashville Med. & EMS         Medovations         1217-14         Each         \$2.5700         50         \$114.50           Nashville Med. & EMS         Inc.         Medovations         Medovations         KEN888264960         KEN8888264960         Each         \$2.5700         50         \$128.50           S.3 mm OD         Midwest Medical Supply         Coviden         8888264960         KEN8888264960         Each         \$1.8100         50         \$90.50           Bound Tree Medical L.C.         Medovations         1217-16         Each         \$2.2900         50         \$114.50           Moore Medical, L.C.         Medovations         1217-16         Each         \$2.2900         50         \$118.50           Moore Medical, L.C.         Medovations         1217-16         Medovations         1217-16         Medovations         50         \$2.2000         50         \$12.800           Compound Regizal, L.C.         Medovations         1217-16         Medovations         Each         \$0.000         50 <td></td> <td>Midwest Medical Supply</td> <td>Covidien</td> <td>8888264945</td> <td>KEN8888264945</td> <td>Each</td> <td>\$1.8100</td> <td>50</td> <td>\$90.50</td> <td>1</td>		Midwest Medical Supply	Covidien	8888264945	KEN8888264945	Each	\$1.8100	50	\$90.50	1
Henry Schein, Inc.         Diversatek         1217-14         Each         \$2.2900         50         \$114.50           Nashville Med. & EMS         Moore Medical, LLC.         Medovations         1217-14         Each         \$2.5700         50         \$128.50           Naso-gastric or Gastric sump tube; 48 inch L, 16 French, S.3 mm OD         Midwest Medical Supply         KEN8888264960         KEN8888264960         Each         \$2.2000         280         \$516.00           Bound Tree Medical Supply         Curaplex         ME2216-s         14761         Each         \$2.2000         280         \$616.00           Henry Schein, Inc.         Medovations         1217-16         Each         \$2.2000         50         \$128.50           O.S.P., 10% Swabstick (1's)         Images Alexander         822         Each         \$0.200         100         \$22.00           Henry Schein, Inc.         James Alexander         822         Each         \$0.200         100         \$22.00           U.S.P., 10% Swabstick (1's)         James Alexander         822         Each         \$0.200         100         \$42.20           Moore Medical, LLC.         James Alexander         822         Each         \$0.8440         50         \$42.20           Moore Medical, LLC.         <		Bound Tree Medical	Curaplex	ME2214-S	14759	Each	\$2.2000	280	\$616.00	2
Moore Medical, LLC.         Medovations         1217-14         Each         \$2.5700         50         \$128.50           Naso-gastric sump tube, 48 inch L, 16 French, B.S. amn OD         Amaso-gastric sump tube; 48 inch L, 16 French, B.S. amn OD         KEN888264960         KEN888264960         Each         \$1.8100         50         \$90.50           Midwest Medical Supply         Covidien         8888264960         KEN8888264960         Each         \$1.8100         50         \$90.50           Bound Tree Medical LLC.         Midwest Medical, LLC.         Medovations         1217-16         Each         \$2.2000         50         \$118.50           Moore Medical, LLC.         Medovations         1217-16         Amastrille Med. & EMS         Amastrille Med. & EMS         Amastrille Med. & EMS         Amastrille Med. & Each         \$2.5700         50         \$128.50           U.S.P., 10% Swabstick (1's)         Amas Alexander         822         Each         \$0.2200         100         \$22.00           Henry Schein, inc.         James Alexander         21544         92564         Each         \$0.2200         100         \$42.20           Moore Medical, LLC.         3M         C1544         92564         Each         \$0.050         100         \$42.20		Henry Schein, Inc.	Diversatek	1217-14		Each	\$2.2900	50	\$114.50	3
Naso-gastric or Gastric sump tube; 48 inch L, 16 French, S.3 mm OD         R888264960         KEN888264960         Each         \$1.8100         50         \$90.50           5.3 mm OD         Midwest Medical Supply         curaplex         ME2216-s         14761         Each         \$1.200         50         \$90.50           Bound Tree Medical Supply         curaplex         ME2216-s         14761         Each         \$2.200         280         \$616.00           Henry Scheir, Inc.         Medovations         1217-16         Each         \$2.2900         50         \$114.50           Nashville Med. & EMS         Medovations         1217-16         Ano bid         No bid         50         \$128.50           Compound Tinture of Benzoin         LO.S.P., 10% Swabstick (1's)         Ano bid         Ano bid         Ano bid         Ano bid         \$22.00           Henry Schein, Inc.         James Alexander         822         Each         \$0.2200         100         \$22.00           Moore Medical, LLC.         James Alexander         21544         \$20.2200         100         \$42.20           Bound Tree Medical         Mo bid         No bid         No bid         Ano bid         Ano bid		Moore Medical, LLC.	Medovations	1217-14		Each	\$2.5700	20	\$128.50	4
Naso-gastric or Gastric sump tube; 48 inch L, 16 French, 5.3 mm OD         KEN888264960         KEN8888264960         Each 5.18100         50         \$90.50           S.3 mm OD         Midwest Medical Supply         Curaplex         ME2216-s         14761         Each 5.2000         50         \$90.50           Bound Tree Medical LC.         Oiversatek         1217-16         Each 52.2000         50         \$114.50           Moore Medical, LLC.         Medovations         1217-16         Each 52.5700         50         \$128.50           Compound Tinture of Benzoin         LO.S., 10% Swabstick (1's)         Anobid         Anobid         Anobid         \$22.00           Henry Schein, Inc.         James Alexander         822         Each 50.2200         100         \$22.00           Moore Medical, LLC.         3/m         C1544         92564         Each 50.2200         100         \$22.00           Moore Medical, LLC.         3/m         C1544         92564         Each 50.2200         100         \$42.20		Nashville Med. & EMS					No bid			
Midwest Medical Supply         Covidien         8888264960         KEN8888264960         Each         \$1.8100         50         \$90.50           Bound Tree Medical         Curaplex         ME2216-s         14761         Each         \$2.2000         280         \$616.00           Henry Schein, Inc.         Medovations         1217-16         Each         \$2.2900         50         \$118.50           Nashville Med. & EMS         Amedovations         1217-16         Amedovations         Amedovation	122	Naso-gastric or Gastric sump tube; 4	48 inch L, 16 French,							
Bound Tree Medical         Curaplex         ME2216-s         14761         Each         \$2.2000         280         \$616.00           Henry Schein, Inc.         Medovations         1217-16         Each         \$2.2900         50         \$114.50           Nashville Med. & EMS         Medovations         1217-16         Each         \$2.5700         50         \$128.50           Compound Tinture of Benzoin         O.S.P., 10% Swabstick (1's)         Amery Schein, Inc.         James Alexander         822         Each         \$0.2200         100         \$22.00           Henry Schein, Inc.         3M         C1544         92564         Each         \$0.8440         50         \$42.20           Bound Tree Medical         Inc.         Inc.         Inc.         Inc.         Inc.         \$42.20		Midwest Medical Supply	Covidien	8888264960	KEN8888264960	Each	\$1.8100	20	\$90.50	1
Henry Schein, Inc.         Diversatek         1217-16         Each         \$2.2900         50         \$14.50           Moore Medical, LLC.         Medovations         1217-16         Each         \$2.5700         50         \$128.50           Compound Tinture of Benzoin U.S.P., 10% Swabstick (1's)         Image: Alexander         822         Each         \$0.2200         100         \$22.00           Henry Schein, Inc.         3M         C1544         92564         Each         \$0.8440         50         \$42.20           Bound Tree Medical         Bound Tree Medical         Ino bid         Ino bid         Ino bid         Indicated		Bound Tree Medical	Curaplex	ME2216-s	14761	Each	\$2.2000	280	\$616.00	2
Moore Medical, ILC.         Medovations         1217-16         Each         \$2.5700         50         \$128.50           Nashville Med. & EMS         Semicon Medical Med. & EMS         No bid         No bid         \$128.50           Compound Tinture of Benzoin         Image: Alexander Medical M		Henry Schein, Inc.	Diversatek	1217-16		Each	\$2.2900	20	\$114.50	3
Nashville Med. & EMS         No bid         No bid         No bid         Accompound Tinture of Benzoin         No bid		Moore Medical, LLC.	Medovations	1217-16		Each	\$2.5700	50	\$128.50	4
Compound Tinture of Benzoin         Compound Tinture of Benzoin         Compound Tinture of Benzoin         Compound Tinture of Benzoin         Compound Tinture Medical		Nashville Med. & EMS					No bid			
Henry Schein, Inc.  Moore Medical, LLC.  Bound Tree Medical  Moderation of the Medical of the Me	133	Compound Tinture of Benzoin								
3M C1544 92564 Each \$0.8440 50 \$42.20 No bid		Henry Schein, Inc.	James Alexander	822		Each	\$0.2200	100	\$22.00	1
		Moore Medical, LLC.	3M	C1544	92564	Each	\$0.8440	20	\$42.20	2
		Bound Tree Medical					No bid			

	DESCRIPTION	BRAND	MFG ITEM #	Vendor #	UNIT / BASE FOR AWARD	PRICE PER UNIT	CASE	PRICE PER CASE	RANK
	Midwest Medical Supply					No bid			
	Nashville Med. & EMS					No bid			
124	Philips HeartStart MRX Monitor Paper 76X25								
	Bound Tree Medical	Curaplex	38171	2746-10075	Each roil	\$0.9300	1	\$0.93	-
	Midwest Medical Supply	Skintact	13755	LE013755	Each roll	\$1.4700	50	\$73,50	2
	Henry Schein, Inc.	Curaplex	40457C		Each roll	\$2.7700	10	\$27.70	3
	Moore Medical, LLC.					No bid			
	Nashville Med. & EMS					No bid			i
125	Nail Polish Remover Pad						16		
	Moore Medical, LLC.	Dynarex	1501	96646	100 Each	\$0.0340	1000	\$34.00	T.
	Henry Schein, Inc.	NDC/MedPlus	B71200		100 Each	\$0.0341	100	\$3.41	2
	Midwest Medical Supply	Dynarex	1501	DYN1501 Sold by 10	100 Each	\$0.0366	1000	\$36.60	33
	Bound Tree Medical	Nice-pak	1501	607120	100 Each	\$0.0378	100	\$3.78	4
	Nashville Med. & EMS					No bid			
126	Adult/Child Pre-Connect Combo Defib Pd for Phillips HeartStart MRX	fib Pd for Phillips Heart	Start MRX						
	Midwest Medical Supply	Conmed	3115-1751	CON3115-1751	Each	\$13,3300	10	\$133.30	1
	Bound Tree Medical	Curaplex		16250	Each	\$15.6900	10	\$156.90	2
	S	Heart Sync	T10020-PHILIPS		Each	\$16.6900	10	\$166.90	3
	Moore Medical, LLC.	Phillips	9.89803E+11	15846	Each	\$23.5000	10	\$235.00	4
	Henry Schein, Inc.		9.89803E+11		Each	\$24.2500	10	\$242.50	5
127	HeartStart Infant Combo Plus Pads for Philips HeartStart MRX	or Philips HeartStart N	IRX						
	Midwest Medical Supply	Соптед	3115-1750	CON3115-1750	Each	\$13.3300	10	\$133.30	1
	Bound Tree Medical	Curaplex		16251	Each	\$16.4800	10	\$164.80	2
	Nashville Med. & EMS	Heart Sync	PHILIPS INFANT		Each	\$17.6900	10	\$176.90	3
	Henry Schein, Inc.		M3717A		Each	\$22.8500	5	\$114.25	4
	Moore Medical, LLC.	Phillips	M3717A	23075	Each	\$23.2500	10	\$116.25	5
128	Supraglottic Airway Kit								
	Nashville Med. & EMS	KING	KLTSD #423		Each	\$27.3900	5_	\$136.95	1
	Bound Tree	Ambu		477-KLTSD413EA	Each	\$32.3200	5	\$161.60	2
			KLTSD433		Each	\$35.2000	5	\$176.00	m
	pply	KING	KLTSD423	MMSKING3	Each	\$35.7800	1	\$35.78	4
	Moore Medical, LLC	King	KLTSD433	37252	Each	\$37.3300	1	\$37.33	2

DESCRIPTION   BRAND   MFG ITEM # Vendor # BASE FOR   UNIT   PRICE PER   CASE   PRICE PER	1									
S   KING   KLTSD #424   Each   \$27,3900   5		DESCRIPTION	BRAND	MFG ITEM #	Vendor #	UNIT / BASE FOR AWARD	PRICE PER UNIT	CASE	PRICE PER CASE	RANK
S   KING   KLTSD #424   S27.3900   S	1	Supragiottic Airway								
pply         KITSD414         477-KLTSD414EA         Each         \$32.3200         5           pply         KITSD34         MMKING4         Each         \$35.2000         5           King         KLTSD424         MMKING4         Each         \$35.7800         1           IS         King         KLTSD434         37.253         Each         \$37.3300         1           IS         King         KLTSD415         477-KLTSD415EA         Each         \$27.3900         5           IS         King         KLTSD415         477-KLTSD415EA         Each         \$32.3200         5           IP         KITSD435         MMKINGS         Each         \$35.2000         5           KING         KLTSD435         MMKINGS         Each         \$35.7800         1           King         KLTSD435         A7254         Each         \$37.3300         1		Nashville Med & EMS	KING	KLTSD #424		Each	\$27.3900	5	\$136.95	r.
pply         KITSD34         MMKING4         Each         \$35.2000         5           King         KLTSD424         MMKING4         Each         \$35.7800         1           IS         King         KLTSD434         37.253         Each         \$37.3300         1           IS         KING         KLTSD425         Each         \$27.3900         5           IS         Mmbu         KLTSD415         477-KLTSD415EA         Each         \$32.3200         5           IP         KLTSD435         MMKINGS         Each         \$35.2000         5           IP         KITSD435         MMKINGS         Each         \$35.7800         1           King         KLTSD435         Rach         \$35.7800         1		Bound Tree	Ambu	KLTSD414	477-KLTSD414EA	Each	\$32.3200	S	\$161.60	2
pply         king         KLTSD424         MMKING4         Each         \$35.7800         1           King         KLTSD434         37253         Each         \$37.3300         1           IS         KING         KLTSD425         Each         \$27.3900         5           Ambu         KLTSD415         477-KLTSD415EA         Each         \$32.3200         5           pply         KING         KLTSD435         MMKINGS         Each         \$35.2800         1           KIRS         KLTSD435         MMKINGS         Each         \$35.7800         1           King         KLTSD435         KATSD435         Each         \$35.7300         1		Henry Schein, Inc.		KLTSD34		Each	\$35.2000	5	\$176.00	6
King         KLTSD434         37253         Each         \$37.3300         1           IS         KING         KLTSD 425         Each         \$27.3900         5           Ambu         KLTSD415         477-KLTSD415EA         Each         \$32.3200         5           pply         KITSD435         MMMINGS         Each         \$35.2000         5           KITSD425         MMMINGS         Each         \$35.7800         1           King         KLTSD435         Each         \$35.7800         1		Midwest Medical Supply	KING	KLTSD424	MMKING4	Each	\$35.7800	1	\$35.78	4
IS         KING         KLTSD 425         Each         \$27.3900         5           Ambu         KLTSD415         477-KLTSD415EA         Each         \$32.3200         5           pply         KING         KLTSD425         MMKINGS         Each         \$35.2000         5           r         KITSD425         MMKINGS         Each         \$35.7800         1           KNR         KLTSD435         37254         Each         \$37.3300         1		Moore Medical, LLC	King	KLTSD434	37253	Each	\$37.3300	1	\$37.78	2
4S         KING         KLTSD 425         Each         \$27.3900         S           Ambu         KLTSD415         477-KLTSD415EA         Each         \$32.3200         5           pply         KING         KLTSD435         MMMXINGS         Each         \$35.2000         5           r         KITSD425         MMMXINGS         Each         \$35.7800         1           KNG         KLTSD435         RATSD435         Rach         \$37.3300         1	_	Supraglottic Airway								
Aπbu         KLTSD415         477-KLTSD415EA         Each         \$32.3200         5           pply         KINS         KLTSD435         MMKINGS         Each         \$35.2000         5           r         KITSD425         MMKINGS         Each         \$35.7800         1           KNG         KLTSD435         37.254         Each         \$37.3300         1		Nashville Med. & EMS	KING	KLTSD 425		Each	\$27.3900	2	\$136.95	
pply         KITSD425         MMKINGS         Each         \$35.2000         5           KING         KLTSD425         MMKINGS         Each         \$35.7800         1           King         KLTSD435         37.254         Each         \$37.3300         1			Ambu	KLTSD415	477-KLTSD415EA	Each	\$32.3200	2	\$161.60	2
pply         KING         KLTSD425         MMKINGS         Each         \$35.7800         1           King         KLTSD435         37254         Each         \$37.3300         1		Henry Schein, Inc.		KLTSD435		Each	\$35.2000	5	\$176.00	3
King K.TSD435 37254 Each 537.3300 1		Midwest Medical Supply	KING	KLTSD425	MMKINGS	Each	\$35.7800	1	\$35.78	4
			King	KLTSD435	37254	Each	\$37.3300	1	\$37.33	S

129

130

Vendor provided an exception- Alternate Brand offered was deemed to be comparable with requested brand.

/ENDORS	PHONE #	E-VERIFY	
SOUND TREE MEDICAL LLC., 500 Tuttle Crossing Blvd. Dublin OH, 43016	800-533-0523	yes	193018
HENRY SCHEIN, INC., PO Box 3227, Irmo, SC 29063	800-845-3350	yes	204153
MOORE MEDICAL, LLC. 1690 New Britan Ave., Farmington, CT 03032	800-234-1464	yes	290841
MIDWEST MEDICAL SUPPLY CO. 13400 Lakefront Dr., Earth City, MO 63045	888-540-3232	yes	199641
NASHVILLE MEDICAL & EMS PRODUCTS, INC.PO Box 64, Springfield, TN 37172	615-384-0576	yes	863032

Local Vendors are indicated by the designation (LV). Award based off of Local Preference is indicated by the designation (LPA). Local Preference was not used to award this bid.

Minor discrepancies between the case price on the submitted bid and the award are due to roundings.

RECOMMEND AWARDING TO ALL VENDORS BASED ON PRICE AND AVAILABILITY FOR THE BID PERIOD 04/01/2018 - 03/31/2019.

Christine Davis, HCBCC Purchasing Manager

RECOMMENDATION APPROVED BY:

Randy Vosburg, HCBCC, County Admin strator